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Tuesday, January 24, 2012

--- On commencing at 9:37 a.m.

MR. SOMMERVILLE:  Good morning, everyone.  The Board has convened this morning in the matter of an application by Enbridge Gas Distribution Inc. for rates.  The application has been given File No. EB-2011-0277.

The case involves a proposed rate adjustment for 2012, the last year of the current IRM program.  The Board has previously approved a partial settlement in this has and has issued an interim rate order.  Today we will deal with the unresolved issues.

Sitting with me is Mr. Ken Quesnelle, Board member.  Can I have appearances, please?
Appearances:


MR. CASS:  Good morning, Mr. Chair.  Fred Cass for Enbridge Gas Distribution.  David Stevens will also be appearing for Enbridge.

MR. SOMMERVILLE:  Thank you.

MR. BRETT:  Good morning, Mr. Chair and Panel.  Tom Brett for Building Owners & Managers Association.

MR. QUINN:  Good morning, Mr. Chair.  Dwayne Quinn on behalf of the Federation of Rental-Housing Providers of Ontario.

MR. THOMPSON:  Peter Thompson, Mr. Chair, for Canadian Manufacturers & Exporters.

MS. GIRVAN:  Julie Girvan, Consumers Council of Canada.

MR. SOMMERVILLE:  Ms. Girvan.

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

MR. MacINTOSH:  David MacIntosh, Energy Probe.

MR. BUONAGURO:  Good morning.  Michael Buonaguro, counsel for VECC.

MS. SEBALJ:  And Board Staff, Kristi Sebalj, Tina Li and Colin Schuch.

MR. SOMMERVILLE:  Thank you.  Mr. Cass, there are I think four substantive issues, and then an allocation question that is attendant to a number of them.  How do you propose to proceed?  Do you have a specific order in mind?

MR. CASS:  Yes, I do, Mr. Chair.  Thank you.  Just by way of a very brief opening, I thought I would lay out the plan for the witness panels.

Enbridge proposes to call four witness panels.  The Board's partial decision and order that it issued when it approved the partial settlement agreement sets out the unsettled issues.  Those are at page 2 of the partial decision and order, and there are seven of them as set out there.

The first issue -- and I point out, as well, these seven issues are also cross-referenced to where they can be found on the issues list in this partial decision and order.

The first issue with respect to gas costs will be addressed by the first panel that is in the seats at the witness stand.  The second issue, the Z factor with respect to pension funding, will be addressed by the second panel, as will the fourth, variance account for Z factor 2012 pension funding, and issue 7, for cost allocation as it relates to the pension Z factor.

So the second panel will be -- using this numbering from the partial decision, will be issues 2, 4 and 7 as it relates to the pension funding.

The third witness panel, Mr. Chair, will deal with the issue set out here as number 6, transition impact of accounting changes deferral account.

Finally, the fourth witness panel will deal with what's shown here as issue 3.  That would be the Z factor cross bores; issue 5, the variance account in respect of the Z factor for cross bores; and issue 7, the cost allocation to the extent it relates to cross bores.

That's the game plan, so to speak, for the witness panels.

MR. SOMMERVILLE:  Thank you.

MR. CASS:  Having said that, Mr. Chair, the first panel is ready to proceed, if I might just introduce them, and then ask them to come forward and be sworn.

Sitting furthest away from me is Kevin Culbert.  He is manager regulatory accounting.  Next to him is Don Small, manager gas cost and budget.  Finally, Jody Sarnovsky, director energy supply and policy.  If the witnesses could please go forward?
ENBRIDGE GAS DISTRIBUTION INC. - PANEL 1

Kevin Culbert, Sworn

Jody L. Sarnovsky, Sworn

Don Small, Sworn
Examination by Mr. Cass


MR. CASS:  Mr. Chair, I have only just a few very basic questions for this panel.  Panel, could you please confirm that Enbridge's evidence on gas cost was prepared by you or under your direction and control?

MR. SMALL:  Yes, it is.

MR. CASS:  And can you confirm that that evidence is accurate, to the best of your knowledge or belief?

MR. SMALL:  Yes it is.

MR. CASS:  My final question, Mr. Small, is for you.  Could you please give the Board just an overview of Enbridge's approach to its gas supply portfolio?

MR. SMALL:  Yes, I can.  Each year, the company develops -- forecasts its supply portfolio made up of various gas supply commodity, transportation and storage requirements, to meet its peak day, seasonal and annual demands.

The company has, for a number of years, used an application model known as SENDOUT to assist in the development of that supply portfolio by determining the appropriate supply and transportation levels, as well as inventory balances that will adequately provide the load balancing needs of all customers.  And we have used that for purposes of 2012, as well.

To develop that supply portfolio, the company will begin by developing a daily demand profile that will include the impacts of the design day criteria.

To satisfy that demand, the company first looks to maximizing its current storage and transportation contracts.  The company's transportation contracts include long haul transportation on TransCanada, Alliance and Vector, as well as short haul firm contracts on TransCanada, such as STS, and transportation on Union's system to move gas from Dawn to Parkway.

The SENDOUT model mentioned a moment ago identifies an incremental requirement which the company will look to satisfy using the options that are currently available.  This will include additional uncontracted supply, such as incremental Dawn supplies, long haul transport such as STFT peaking services and curtailment.

This is all done in conjunction with maintaining storage balances and deliverability levels sufficient to meet demand throughout the winter season.  In order to satisfy peak day demand, the company must look at what services are currently available.  For planning purposes, the company assumes that all of its long haul and short haul contracts, TCPL and Union, as well as curtailment, are fully utilized leaving only incremental long haul capacity, i.e., STFT, and peaking services as incremental supply options.

Every year, there are a number of considerations that go into the development of that supply portfolio, changes in degree days, customer adds, changes in average use.  We also have changes in our sales and T service mix:  For example, customers migrating back and forth between system supply and T service; changes in our peak day requirement, not only changes in the absolute level in a given test year, but how it relates to the winter demand, as well; changes in the marketplace, there could be access to new supply alternatives, such as Marcellus, new pipeline transportation opportunities or alternative storage arrangements.

We also will review how the market responded the previous year, firm versus interruptible transport, and, finally, we will look at supply reliability, diversity and operational flexibility.

So that's kind of an overview of what we do each and every year as part of our development of our gas supply portfolio. Thank you.

MR. CASS:  That's the examination-in-chief of the panel, Mr. Chair.  Thank you.

MR. SOMMERVILLE:  Thank you.  Have the intervenors determined an order for their proceeding?

MR. QUINN:  Yes, sir.  I believe I will lead off for this panel, given some of the background on this issue, followed by the other intervenors as they have questions, but there is not many questions beyond the ones that I have.  Mr. Thompson I know has some questions.

MR. SOMMERVILLE:  Thank you.  Mr. Quinn.
Cross-Examination by Mr. Quinn

MR. QUINN:  Good morning, panel.  My name is Dwayne Quinn, and I represent the Federation of Rental-Housing Providers of Ontario.

Here this morning, I want to try to make sure we have the same foundation and understanding of the issue, and then hopefully we can get to some more of the specifics as they relate to the gas supply plan that Mr. Small had given an overview of in his opening address.

I think you have covered sufficiently that the system reliability can be created in a number of ways, long haul, firm transport, storage with transportation to you, peaking service, and of course demand response.

Are there other ways that Enbridge looks at the system reliability requirement in a way that they are able to quantify what the value of that service is?

MR. SMALL:  Sorry, I am not sure I understand your question.

MR. QUINN:  I am sorry.  You had covered some of the questions I had in your opening address, Mr. Small, so I didn't want to cover the same territory.

So in summary, have you covered comprehensively all of the tools that you have in your tool kit to provide system reliability?

MR. SMALL:  The ones that are available to us today, yes.

MR. QUINN:  Okay.  Thank you.  And when you use your send-out model, do you apply a value to system reliability?

MR. SMALL:  No, we do not.

MR. QUINN:  So the send-out model defines -- it's a linear optimization program, is it?

MR. SMALL:  Well, maybe I should just back up one second.  My response to your question about system reliability, I was thinking of costs associated with that.

We certainly will be looking at whether or not supplies are firm supplies and whether or not they will be met.  It's not necessarily looking at this firm supply option versus another one.  We are primarily looking at development of storage targets to ensure we have a level of deliverability out of storage, how we are going to be able to meet demand on peak day, and what supplies we have available to us, those kinds of things.

MR. QUINN:  And in understanding your summary, there is a diversity that Enbridge strives in its portfolio to be able to meet each of the peak seasonal and annual demands?

MR. SMALL:  Certainly as part of our diversity we have tried to, over the years, develop a supply portfolio that is geographically diverse.

For example, using Alliance and Vector, so we are not entirely using TransCanada.  We are trying to use a mix of storage to optimize it the best we can, those kinds of things.

MR. QUINN:  Just to that last point, then, would your existing contractual arrangements to bring Alliance and Vector gas to Enbridge be presumed to be maxed out on your peak day?

MR. SMALL:  Yes, they would be.

MR. QUINN:  Thank you.

MR. SMALL:  And just to add that we do have firm short haul transportation agreements with TransCanada that we utilize to move those Vector supplies from Dawn to either the CDA or to the EDA.

And also we would assume that on the peak day, our contract with Union on what we would refer to as our M-12 to move gas from Dawn to Parkway is fully utilized, as well, to move storage supplies, as well as any -- to move storage supplies.

MR. QUINN:  So in summary, you said when you've maxed out all of those services and you are still trying to make peak day requirements, your two options are peaking services and long haul services from specifically TransCanada?

MR. SMALL:  In today's world, yes.

MR. QUINN:  Okay.  So I think we need to just drop back before we get to today, and I want to move back in time.  I understand -- is it fair to say in 2008 Enbridge brought its concerns about system reliability to the Board, who provided an interim protocol but encouraged Enbridge to meet with its stakeholders to develop a longer-term solution to system reliability concerns?

MR. SMALL:  I remember that.  I am just not sure it was 2008, but I will take that from you.

MR. QUINN:  And so --

MR. SMALL:  And there was a consultative, yes, in the early part of 2010, I believe.

MR. QUINN:  Yes, and that's what I guess I am moving to, is that -- would it be sufficient to summarize that Enbridge then met -- after being directed by the Board to meet with its stakeholders, it met with these stakeholders almost monthly for about a year to inform the stakeholders of their views about system reliability and the benefits of different approaches to increasing that reliability?

MR. SMALL:  That's fair, yes.

MR. QUINN:  Would it also be fair to say that part of the challenge was balancing the interest of the gas distributor with those of the suppliers of the commodity, and those costs that are ultimately borne by customers?

MR. SMALL:  Well, if I recall, the primary focus of that consultative was to address the best way to address our concerns with respect to direct purchase supplies, which we didn't believe to be underpinned by firm transport.

We also wanted to at that time address a number of issues in and around the interruptible customers and what we could expect through curtailment.

So that was the primary focus going in.  So as an outcome of that, for example, we did a sign-away and we have the last two Novembers -- November of 2010 and November 1 of 2011 -- we have assigned away some of our short haul capacity from Dawn to CDA to direct purchase customers or the brokers.

MR. QUINN:  And hopefully in bringing us together as a group through that component of the solution, we will get some more specifics on that a little bit later.  But I just wanted to make sure that I am clear about my understanding and that you can tell me if you have a different understanding, but part of the challenge in creating that system reliability is balancing the interests of the stakeholders with the utility, with ultimately trying to minimize a cost on behalf of the consumers?

MR. SMALL:  Sorry, just -- I don't disagree that one of the things that we would want to do is try to address the issue of system reliability and making sure that we have got the firm supplies available to meet the needs of our customers, but we also recognize that there may be a cost associated with that, to move to that.

So certainly we want to make sure that we can get the lowest possible costs for our customers, but there are going to be situations where cost isn't necessarily the primary factor.

MR. QUINN:  And so there is a trade-off sometimes between the quality of the service and the cost you have to pay for it?

MR. SMALL:  That's fair.  I mean the way TransCanada's tolls are right now, for example, firm transportation is quite high.

MR. QUINN:  And there were also other stakeholders involved that weren't just customers; they were providers of service to either Enbridge or directly to customers through direct purchase arrangements?

MR. SMALL:  My recollection is there were a couple of different marketers that were part of that consultative as long as -- other major intervenors, yes.

MR. QUINN:  Okay.  So in the set of dialogue that took almost a year, part of the challenge was informing stakeholders of the issues and then finding the appropriate balance that everybody could agree with as a reasonable approach to system reliability?

MR. SMALL:  That's my understanding of what went on, yes.

MR. QUINN:  Okay.  Thank you.  So I think what we will do is the -- I believe ultimately the process ended with a settlement agreement that can be found in the attachment A of one of our interrogatories, so if I could ask you to turn initially to Exhibit I, Tab 6, Schedule 11?

MR. SMALL:  Yes, I have it.

MR. QUINN:  The attachment starts with the Board approval of the settlement agreement; is that correct?

MR. SMALL:  Yes, it does.

MR. QUINN:  So I just want to move to the elements of the agreement, just for clarity, so if I can ask you to turn up page 6 of 72, so attachment A, page 6 of 72? 

MR. SMALL:  The table of contents?  Yes.

MR. QUINN:  Yes.  So in there, we have a settlement preamble, but then we have the terms of the settlement which begin on page -- sorry, and then that reference of six, I got stuck on six of 16, so it's actually page 10 of 72 where we have the terms of the settlement.

MR. SMALL:  Yes, I have that.

MR. QUINN:  I am going to only deal with the first few components of the terms of settlement.  You brought up some other good steps that were agreed to by the stakeholders that were involved in the settlement process, but I want to focus specifically on the contracting aspect of pipeline.

And so the assignment of short haul capacity is the first term, and would it be fair to summarize this as Enbridge assigned 50,000 a day of capacity, of short haul capacity, to agents for mass marketers and replaced it with TransCanada short term firm service for the winter months?

MR. SMALL:  That's correct.

MR. QUINN:  So that is the first component.  And it was a quantity of 50,000 gJs, and would you characterize that as a compromise that was made with the marketplace to effect greater system reliability?

MR. SMALL:  I am just not sure I agree with your word as a compromise.  I mean, through the discussion, we addressed what we believed to be an issue about whether or not some of those direct purchase supplies were underpinned by firm arrangements.

We went into a number of discusses about what could or couldn't be done if direct purchase volumes didn't appear so -- didn't arrive.  So the decision collectively was to address specifically those direct purchase supplies that were underpinning the mass market.

So as a solution, it was agreed that we would assign away a portion of that short haul transportation contract that we had available up to a maximum of 50,000, and it follows a formula each and every year.

MR. QUINN:  And that was agreed to by the marketers who were represented on the -- in the system reliability group?

MR. SMALL:  That's correct.

MR. QUINN:  So the marketers who represented providers of the service had opportunity to understand your issue and agreed with you that this would be a step toward meeting your concerns, while meeting their interests of serving their customers?

MR. SMALL:  That's fair, I believe.

MR. QUINN:  Okay, thank you.  So then we move forward to number 2, which can be found starting on page 13 of attachment A, page 13 of 72.  And in this component of the system reliability agreement, there was an agreement to convert peaking service deliveries into 200,000 gJs of STFT for three months of the winter; is that accurate?

MR. SMALL:  That's correct, yes.

MR. QUINN:  And did Enbridge contract for this service in 2010?

MR. SMALL:  Yes, we did -- well, sorry.  To qualify, I mean, this was agreed upon.  I can't remember the exact -- well, it was sometime in July or August that it was agreed to.  So really what we were talking about was moving forward for the winter of 2011.

MR. QUINN:  So the winter of 2011 starting November of 2010?

MR. SMALL:  We -- what we ended up doing was, as part of our contracting we actually -- the settlement talked about three months in the wintertime.  So what we ended up doing was contracting for STFT for the December to February period.

MR. QUINN:  The entire months, then?

MR. SMALL:  Yes.

MR. QUINN:  Okay, thank you.  That's helpful clarity.

We are going to come back to that attachment, because it is instructive to the agreement, but I want to ask that you turn up FRPO interrogatory 1, which is found at tab 6, schedule 1, at this time.

MR. SMALL:  Yes, I have it.

MR. QUINN:  In this interrogatory, what we were trying to understand was the cost of the first two components of the system reliability agreement.  And you have provided in your attachment -- the numbers get a little hard to read.  There is an attachment to the interrogatory 1 that gives us a breakdown of the cost impacts.  Do you have that there?

MR. SMALL:  Yes, I do.

MR. QUINN:  So on page 1 of 4 of this attachment, Enbridge has provided the gas supply portfolio as approved by the Board in EB-2010-0347, which was the QRAM for January 1st, 2011.  And the quantities and costs are laid out in columns 1 to 4.

Stopping there, do I have that part right?

MR. SMALL:  That's correct, yes.

MR. QUINN:  Okay.  And in the subsequent columns, the table systematically shows the impact of changing the 50,000 gJs of STFT for the assignment and the -- sorry, the 200,000 gJs for the peaking service replacement and replacing both of those services with monthly Dawn deliveries.

The estimate of the financial impact for each of those services is found on line 8, which I read to have a result of just over $3 million for the assignment component and 15.5 million for the peaking service replacement.

Is that a concise summary?

MR. SMALL:  What you see in columns 5 and 6 are the -- well, specifically in column 6, the 3 million, that's making the assumption that as opposed to buying the 50,000 a day of STFT for the November to March period, that would be replaced with equivalent amount of supply to be purchased at Dawn and just comparing those two supply options with the prices that are available at that time underpinning that QRAM application.

Column 11 then says, Okay, let's take the three months' worth of 200,000 of STFT and say, Okay, what if you didn't acquire that but, instead, bought incremental peaking service and some additional Dawn supplies, as well?

And based upon the pricing assumptions on that schedule, that amounts to approximately 15 million.

MR. QUINN:  So based upon your experience, Mr. Small, this is probably the best estimate you could make of what the impact of the two components would be?

MR. SMALL:  That was an estimate that was done at that particular time based upon the pricing assumptions that underpin that particular QRAM at that time.

MR. QUINN:  And was the best information you had available at the time?

MR. SMALL:  It was based upon the pricing assumptions going forward that we would have used to do the QRAM.

MR. QUINN:  So moving forward, then, you did use that exact same methodology to make the costs more current through the next interrogatories.  And as opposed to going through each one in detail, I thought I would move us to page 4 of 4, and I understand -- well, first, to clarify, you did use the same analysis in 4 of 4 as you did on page 1 of 4 that you just described?

MR. SMALL:  The only difference being that in schedule 4 the starting point was from the October QRAM.

MR. QUINN:  So the same methodology updated costs for the QRAM of October 1st, 2011?

MR. SMALL:  A very simple calculation, in the sense that you took the pricing that was used that underpinned the QRAM and just applied it to the supplies that were changing, not taking into consideration any other pricing assumptions other than that were underpinned in the QRAM; for example, to bump up the peaking supplies, for example, and to assume that you were going to get it for the same price as what you ended up contracting for.

MR. QUINN:  So, once again, just to be clear, that is the same methodology you used on page 1 of 4?

MR. SMALL:  It is the same methodology, yes, but I just wanted to clarify that it is somewhat of a simplistic approach for demonstration purposes.

MR. QUINN:  So, once again, referring to line 8, we have the 50,000 gJs for the replacement of the short haul valued in the order of $6 million, and then for the 200,000 gJs of long haul for three months, you have it at about 25-1/2 million dollars; do I have that right?

MR. SMALL:  Yes.  And that's reflective of the fact of the higher TCPL tolls.

MR. QUINN:  You have answered one of my next questions, so I thank you for that.  What underpins most of that change is caught up in TransCanada rates, tolling increases, between your first page and the page 4 in that example; is that accurate?

MR. SMALL:  Sorry, I just wanted to double-check between the first example and the second example what the price differential assumed was for the Empress to Dawn supplies, but your point is correct, that it's primarily the TCPL tolls.  That's correct.

MR. QUINN:  Thank you.  Now, as I alluded to before, I would like to turn back to attachment A of schedule 11 and just delve a little bit further into the appendices that were attached to the settlement agreement and the Board's approval of the settlement agreement.

So if I could ask you to turn up that same attachment A, but in this case I want to move to page 30 of attachment A.

MR. SMALL:  Sorry, we are just having a little trouble finding which one you are referring to.

MR. QUINN:  I understand it's confusing, because I had the same trouble with slide numbers.  And specifically I want to be consistent from an evidentiary point of view.  It is tab 6, schedule 11, attachment A, page 30.

MR. SOMMERVILLE:  Titled "Short haul component and rationale"?

MR. QUINN:  Yes, that's the title on the slide.  Thank you.

MR. SMALL:  Yes, I have that.

MR. QUINN:  And I want to focus on the customer impact.  We just went through the updated impact being $6 million for the short haul assignment.  In the original customer impact, you had $5.4 million based upon current tolls and base differential?  Do you have that?

MR. SMALL:  Well, just to clarify, the information that was -- or the dollar amounts that were used during the consultative, if I remember correctly, they were all based upon April 2010 QRAM.

So going from here to the four schedules that we looked at earlier, you are going to have the impact of pricing changes from each quarter subsequent to that.

MR. QUINN:  And to be specific, as we went through in dialogue before, the major component that contributes to an increase in price between the customer impact and this slide and what we see today has been an increase in TransCanada tolls?

MR. SMALL:  There has been a significant increase in TransCanada tolls since when this was prepared, yes.

MR. QUINN:  Okay.  Thank you.  So then if you could move forward from page 30 to page 33 of 72?

MR. SMALL:  Yes?

MR. QUINN:  And we have the customer impact for the 200,000 GJ replacement of peaking services listed as $17.8 million based upon the tolls and base differentials at that time?

MR. SMALL:  Based upon the assumption that we used the April 2010 QRAM pricing to prepare this schedule.

MR. QUINN:  And just to make sure we are on the same page, again, the 17.8 compares to the 25 and a half from page 4 that you went through with us previously?  Would you take that, subject to check?

MR. SMALL:  With all the changes that occur between that QRAM and the, ultimately, October 2010 QRAM pricing assumptions, yes. 

MR. QUINN:  So both component one and component two have increased in price from the outset, and we all can understand that there have been increases in tolls from TransCanada which have contributed to those cost increases.

MR. SMALL:  That's fair.  The only part, I guess, that I am kind of struggling a little bit is we recognize that TransCanada's tolls did go up, but when we are looking at how we are going to satisfy peak-day demand, for example, sometime we have to look at what is available to us and whether or not we believe those supplies are going to arrive.

Hence our thinking that we needed to move forward in our supply portfolio for 2012 to increase the amount of STFT that we wanted to have throughout the winter period to meet our peak-day demand.

MR. QUINN:  Okay.  Thank you.  Before I address the last point you made, I just wanted to make sure, while we still have our hand in this document, that -- if you can move forward to page 35 of attachment A, 35 of 72?

MR. SMALL:  Yes, I have that.

MR. QUINN:  And we have a slide that's entitled "Reserve margin component."  Now, this component sought to be an addition 80,000 GJs of STFT for three months as a reserve margin.  As I understand it, this component was withdrawn by the company before the package was presented to stakeholders like us.

However, I would like to ask you to note the cost of this component was estimated at the time at $11.5 million.

MR. SMALL:  Just to clarify, though, that during the consultative, we did talk about what we were going -- there was a number of things that were being addressed.

Certainly we wanted to address the direct purchase issue.  We also wanted to address making changes to our handbook with respect to interruptible customers and curtailment notice and those kinds of things.  And we took the opportunity at that time to speak to the specifics in and around our peaking supplies.

At the same time, we had suggested to the intervenors that we believed that our current design-day criteria was lacking and should be adjusted, and we sought to include as part of that proceeding an opportunity to increase for our design-day criteria.

That aspect was rejected, and we will be bringing forward as part of our 2013 application a new design-day criteria.

MR. QUINN:  You used the word "rejected" and I read the bottom of the slide to say Enbridge agreed to withdraw this component for the purposes of settlement.

Earlier I characterized this agreement as being a compromise of trade-offs with industry participants, stakeholders and customers, with the utility trying to maximize system reliability.  You said this was rejected?

MR. SMALL:  Well, rejected in the sense that we had brought forward as part of that to include an aspect that the parties involved in the consultative didn't believe it should be part of that consultative.

So when I said rejected, that might have been a little strong.  We chose, then, to withdraw that so we could get a settlement on the other issues.

MR. QUINN:  And that settlement, you wouldn't characterize as a compromise?

MR. SMALL:  Well, I mean, both parties during a settlement are going to have to present their positions and their opinions.  And ultimately when you sign off, maybe some parties do have to compromise a little bit, but you are going to come away with what you think is a settlement that everybody is happy with and can move forward.

MR. QUINN:  So you provide some detail behind it, and I appreciate there was -- there is a lot of content that happened over the year-long process to come up with the agreement.

But at the end of the day, we have a balancing of interests that parties could agree with and could move forward to get approval from the Board for the settlement agreement?

MR. SMALL:  And just to preface, I mean, I was part of some of the discussions, but certainly not all of them.  So I can't speak to each party's individual concerns.  I just know that when I was there, there was -- you know, various parties had issues or concerns that they raised and there was an open dialogue, and ultimately the consensus was reached.

MR. QUINN:  Consensus and agreement.

MR. SMALL:  Fair enough.

MR. QUINN:  And with that, I guess all agreements have everybody negotiating with the best information available.  What we all recognize is sometimes things change.  So if I can move backwards in that same attachment to page 19 of 72, do you see section 4, "Material Change in Circumstances"?

MR. SMALL:  Yes, I do.

MR. QUINN:  And I think it would be helpful to make sure we are focused on the issue and the concern that we would have here, so I would like just to read that first rather long sentence for the record, but under section 4, "Material Change in Circumstances", it reads:
"In the event of a change in circumstances that affects security of supply to Enbridge's franchise area and/or the Long Term Resolution in any material way ("Material Change"), Enbridge will review the implications of the change and, within a reasonable period of time after the change has become known, will report to the parties to this Settlement Agreement regarding the implications of the change on system reliability and/or the Long Term Resolution." 

Your evidence has laid out that Enbridge had some concerns.  You know your evidence and I won't point you to specific areas, but it became clear to Enbridge that you had continued concerns about system reliability in your evidence, but as the company grappled with the continued concerns and decided to increase the contract for STFT, did Enbridge notify the Board or intervenors that you were desiring to increase the level of STFT for reliability purposes?

MR. SMALL:  As I alluded to at the beginning, each year, when we are trying to develop our supply portfolio, there is a number of things that we are trying to review and evaluate.  2012 was no different.

When we looked at our peak day requirement for 2012, we saw an increase in our peak day demand of approximately 50,000 gJs a day in excess of what that peak day requirement was for 2010.

So now we are left with the decision of how we go about satisfying that incremental peak day requirement.  So in reviewing that increase in peak day, along with a number of other things - you have got return to system, for example, you have got customer adds, you have changes in degrees, a number of factors that I alluded to at the beginning - we are trying to see what we think is the best alternative to meet that increase in peak day -- not just peak day, but also how we are going to satisfy meeting our overall winter demand.

And one of the other things I did allude to was we are going to look at what's happened in the marketplace.  So for purposes of preparing our 2012 budget, we saw an increase in our peak day demand.  We saw some situations occur during January and February of 2011 that led us to believe that it wouldn't be in our best interests of meeting our customers' demands by increasing or meeting that peak day through increased peaking service.

So our decision at the time was to increase -- or assume, as part of our budgeting process, an incremental of 75,000 a day for three months to help us meet that peak day and ensure we would meet that peak day on a budgeted basis.

MR. QUINN:  I think I followed you, and I think you are providing additional detail to us and to the Board in this area, but I guess the original question was:  Did Enbridge notify the Board or intervenors that you were desiring to increase your level of STFT for reliability purposes?

MR. SMALL:  I would disagree in your characterization that it was simply for reliability purposes.  Again, I wanted to go back to just say that we were trying to come up with what we thought was the best supply portfolio that we could have to meet the demands of our customers for 2012, taking into consideration the number of things that I mentioned.

And as part of our evidence for 2012, I thought we laid it out quite clearly of what we were doing and why we were doing it.  So I believe we did give notice to the intervenors of what our intentions were.

MR. QUINN:  Well, then maybe I will be very specific.  Were those contracts, the STFT of 75,000 gJs, signed before or after you met with intervenors in the settlement discussions to discuss moving forward for 2012 rates?

MR. SMALL:  Sorry, I can't remember the exact timing offhand.  I know -- I am trying to remember when we did meet to go through for the purposes of the settlement conference.  I can't remember the specific dates when we were talking, but we would have moved forward on contracting for not just this STFT, but all the STFT requirements that we felt we needed.  And I believe it would have been late August/early September.

MR. QUINN:  So would you take it subject to check that the settlement discussions occurred in the third week of November, approximately November 22nd?

MR. SMALL:  If that's the case, then we had already put in place our contractual arrangements for the upcoming winter.  We wouldn't have been able to wait any longer.

MR. QUINN:  And there would be penalty provisions to walk away from that contract, would there?

MR. SMALL:  I'd have to look at the terms and conditions, but certainly we would be obligated to pay TransCanada for the contracted service that we had entered into.

MR. QUINN:  You paid TransCanada, likely, for the demand charges over the remaining term of the contract?

MR. SMALL:  That would be correct, yes.

MR. QUINN:  Okay, thank you.  So I guess --


MR. SMALL:  Sorry, just to add, I mean, what alternative -- I am not sure if this is where you may want to talk about alternatives.  But if we are saying, okay, we are going to walk away from that contract, we are still left with the obligation to ensure that we are going to meet what the demands of our customers are.

So we would have to find some alternative, and I come back to the argument that we don't believe that there is another alternative at this point in time.

MR. QUINN:  And so the decision was made in late summer to increase STFT in the order of 75,000 gJs?

MR. SMALL:  We felt that as part of our supply portfolio for 2012, that was one of the elements of that supply portfolio we felt we needed to meet our 2012 demand.

MR. QUINN:  At the outset of that interrogatory, which was interrogatory schedule 11, so the eleventh interrogatory of FRPO in this area, we had asked about:  What specific approvals is Enbridge seeking for system reliability in this proceeding?

Your response referred us to our previous interrogatory, interrogatory 9, Exhibit I, tab 6 schedule 9.  Can you, for greater clarity, point out to me the approval that you are seeking that is responsive in interrogatory 9?

MR. SMALL:  Sorry, which specific IR were you referring to?  Sorry.

MR. QUINN:  I referred to interrogatory 11, which asked the question about specific approval.  I'll read it for the record:
"What specific approval or approvals is Enbridge seeking for system reliability in this proceeding?"

And your response said:
"Please see Enbridge's response to FRPO Interrogatory number 9 at Exhibit I, tab 6, schedule 9."

I reviewed that, and I would like maybe the witness panel to provide me with clarity on where that response is contained in the interrogatory 9.

MR. SMALL:  Well, I can try to answer it this way.  Certainly we were planning to continue with the assignment of the short haul capacity to direct purchase customers.  We were also continuing with changes that we had made to the handbook.

For example, we no longer have 72-hour customers that are interruptible customers.  There may be one or two customers whose contracts are still in place, but once they expire we aren't going to be offering 72-hour curtailment any more.

There were other changes to the language of the handbook, so we are still asking for that.

We were also saying that we were going to continue with the element of the 200,000 for the -- that was identified, but, again, that's -- that, in my mind, is kind of aside.

And then moving forward, each and every year we are going to have to try to come up with the best way that we feel that we are going to have to meet the demands of our customer for that upcoming test year, to meet not only the peak-day requirement but the annual and seasonal demands, as well.

And if the options available to us at a particular time are long haul TransCanada capacity and that's the assurance that we would have that we were going to meet that peak-day demand, I don't think we should be restricted and continually brought back to that proceeding.  I think if we don't have other options available -- which we don't currently because, quite frankly, there isn't other short haul capacity available to us where it gives us options at this point in time.

So, yeah, it's true we are suggesting to the Board that we were going to continue with the elements of the system reliability, but I think for 2012 we are suggesting that we need to continually move forward.

MR. QUINN:  And continually move forward, you mean increase the amount of STFT that is contracted for, to meet your concerns about system reliability?

MR. SMALL:  Well, I don't view it as system reliability per se.

I am looking at it from:  How am I going to meet that peak-day requirement?  What assets am I going to have to acquire to ensure that we are going to meet that peak-day requirement?

And if the only assets that are really available to me are STFT, then that's what I have got to manage -- or that's what I have got to acquire, sorry.

MR. QUINN:  Okay.  I think I can bring some clarity here.

First off, I will ask the question on peaking services.  In your peaking service contract, do you have the opportunity and is it your practice to put in provisions in the contract that failure to deliver has some cost consequences to the provider?

MR. SMALL:  Yes, we do.  And in fact, in January of 2011, one of our peaking suppliers did fail on a particular day and we did charge back to him what would be considered significant penalties for that.

I would just like to add, though, that while penalties are good from a contractual point of view, they don't necessarily help you out on the day when you are trying to meet the demand on the day.  You really need the gas.

And the other thing that I would be concerned about is if you make the penalties so onerous, one of two things is going to happen; either when you go out for RFPs for peaking service, you are going to see respondents be reduced, the number of respondents will be reduced, and those that do respond would more than likely try to build into their costs for peaking service a means to recover any of those incremental costs, should they incur them.  So you would be paying more for service.

So it becomes trade-off really.

MR. QUINN:  I want to break down your answer a little bit further so that we better understand, and then move forward again.

You said in January 2011 you had an incident of failure to deliver and there were significant penalties.

First, did Enbridge nominate additional gas on that day to replace the peaking services that were not delivered?

MR. SMALL:  On that particular day we did not have to, no.  We were able to manage it through the supplies coming in, and looking back, the -- one thing you kind of have to remember is that we are going to be -- gas control, for example, would be looking at what the expected demand forecast is going to be for the day ahead, and they are going to nominate for their supplies.

Now, when you get to the gas day, the demand may not be as high as you thought it was and you sometimes can manage that demand if some of your supplies didn't show up.

Now, we were lucky enough on this particular day that the demand did drop off a little bit so we didn't have to go out and acquire additional supplies.

MR. QUINN:  So the penalty in this case did exceed the cost to Enbridge?

MR. SMALL:  Yes, it did.

MR. QUINN:  Plain and simple?  And did those monies flow back into the system reliability account?

MR. SMALL:  No.  Those dollars would have gone -- those dollars did go into the PGBA account for subsequent disposition. 

MR. QUINN:  Okay.  We won't get into the disposition of what may be relatively small dollars in the big scheme of things, but I guess my point is Enbridge, it would be my belief - and you can confirm that for me - that Enbridge would put in appropriate penalties that would recognize what the potential -– sorry, they would put in appropriate penalties in their peaking service contracts to cover off foreseen eventualities surrounding failure to deliver?

Would that be accurate?

MR. SMALL:  That's fair.  But I just, you know, caution you that building in those penalties into your contractual arrangements, while -- are good, and you want to make sure you have recovery if -- in the event that you do have to acquire additional supplies when a supplier does fail to deliver, it doesn't get away from the fact that it may have other impacts onto the amount of respondents you would get, or to the value of those responses --


MR. QUINN:  So as you increase --


MR. SMALL:  -- moving forward.

MR. QUINN:  Sorry to interrupt.  As you increase the penalty, you, one, increase the reliability, potentially, or increase the quality of service that you could expect; would that be fair?

MR. SMALL:  Well, hopefully that -- even though you do have those penalties in there, you are not going to enter into a contract and just say:  Well, if he doesn't deliver, I have got these penalties to cover for me.

That's not your primary concern when you are entering into that contract.  Your hope is that you are not going to ever have to call on those penalties.

MR. QUINN:  But you are putting those penalties in to basically qualify the suppliers?  That they understand there are financial consequences to not delivering?

MR. SMALL:  That's fair.

MR. QUINN:  Okay.  So we come to this decision point that you had earlier this year, where you are trying to meet a peak day, and the only two tools you have left are, in your view, long haul transport and there's something like FTST, or a peaking service?  Is that an accurate summary of what you said earlier?

MR. SMALL:  They are currently the only options available to us, yes.

MR. QUINN:  Right.  So then in measuring those two alternatives, you would have, one, cost, and, two, perceived reliability?  Would that be accurate?

MR. SMALL:  You would weigh both of those at the same time, yes.

MR. QUINN:  And I asked earlier if you were able to quantify the value of reliability, and I understand you to say there isn't anything in your send-out model.  But does Enbridge apply a certain quantum to peaking services to value or devalue their perceived reliability?

MR. SMALL:  I would say we don't -- I don't think we assign a value to it.

I think what we do is we try to develop our supply portfolio to see what our volumetric requirement is, and then we look at what all those other requirements are -- how we are going to meet those requirements, sorry.

And ultimately, it comes down to a decision of whether or not that gas is going to be available to help you meet your peak day.  And certainly when we were looking at what we were doing for our supply portfolio for 2012, I go back to the fact that we saw an increase of about 50,000 a day in our peak-day demand.  We had a return to system, as well.

So we are looking at it and saying:  Okay.  What should I be contracting for?  What amount should I be thinking of for my supply portfolio?

And I didn't feel comfortable, and we had a number of discusses about this within our group and we didn't feel comfortable to increase the level of peaking that we were going to rely upon for 2012, considering what had transpired through the winter of 2011, where we had a number of supply failures.

So we felt the best alternative available to us was to contract for incremental STFT to ensure we were going to meet the needs of our customers on the peak day and throughout the winner season.

MR. QUINN:  So summarizing that at a high level, you were short 50,000.  You choose to use a level of 75,000, and you going out to the market to say, Do I buy long haul transport peaking service, at a high level you would expect that long haul service would be more expensive than a peaking service for that same amount of deliverability?

MR. SMALL:  There would be an incremental -- well, I mean, if you just looked at it specifically, if you got the STFT, if you were able to only get it for the day versus the peaking, they're probably very close to the -- the cost is probably very comparable.

But, unfortunately, you can't just contract for STFT for a day or just only call on it when you need it.  You have to contract for a period.

MR. QUINN:  For a period, a minimum of one month?

MR. SMALL:  No.  You can contract for a week at a time.  But, I mean, if you are developing your supply portfolio, you wouldn't want to just assume that my peak day is going to occur sometime during this week in January, so I will only contract for one week, because in actual fact you could get to that particular week and, if you did hit your peak day, you might not have any STFT available.  So you can't take that chance.

MR. QUINN:  So the idea of going for the three months would be to cover your risk of when that peak day may occur?

MR. SMALL:  And the added aspect of it was that if your winter requirements were such, you could use that as replacement for some of other supply part of your portfolio.

MR. QUINN:  Okay.  And in going for this winter, the winter we are currently reviewing your gas supply plan for, you have peaking services as part of your delivery plan for this winter?

MR. SMALL:  Yes, we do.

MR. QUINN:  So you were able to put into your request for bids or proposals a minimum amount of security that you were looking for in the event of a failure to deliver?

MR. SMALL:  Are you asking about whether or not there would have been penalties built into those contracts?

MR. QUINN:  Yes.

MR. SMALL:  There would have been, just like in any of our other peaking contracts.

MR. QUINN:  And you did have bidders bid back -- given the minimum penalties you requested, you had bidders provide you a market rate for that which you chose?

MR. SMALL:  Yes, but I would just like to add that when we got our responses to our RFP, once we determined the block that we were going to get from those responses, the responses in excess of that block that we got were, quite frankly, in some cases, twice as much as the ones we accepted.

So I just wanted to mention that, you know, there would have been a significant increase in our cost if we had decided to go with the greater peaking service.

And, quite frankly, I know I had mentioned about the increase in the peak day requirement for 2012 versus 2010, but if you take everything into consideration, I would have -- had I not contracted for the incremental STFT, I would have been relying upon peaking supplies in excess of what we had assumed in 2010, and I go back to a number of things that occurred during 2011.  We just didn't feel comfortable with that.

MR. QUINN:  But you did get peaking services sufficient to what you went to the market to bid for?

MR. SMALL:  We recognized that we couldn't just assume that we were going to have zero peaking.  So it became a matter of what did we feel was a comfortable level that we could rely upon.

MR. QUINN:  So --


MR. SMALL:  Just when you look at what we have got in there for 2012 for peaking service, it is very comparable to what our 2010 peaking requirement would have been if you took out the 200,000.

MR. QUINN:  Okay.  And so we are talking about some numbers in the air in terms of cost impact, and if I refer you back to interrogatory 9 here at tab 6, schedule 9, what we were trying to understand were the cost implications of this 75,000 gJs of STFT.

And your response provided some verbiage below that, in summary, says that you have to compare -- in the cost impact, netting out comparable deliveries were used making a peaking service at a cost that would be available in the market.

So as I think you are aware, we still have a desire to understand what the quantum is of the costs of the FTST.  So by way of undertaking, may I ask the panel if you would be willing to provide an assessment similar to schedule 1, wherein you have quantified the cost of the STFT, and remove the cost of peaking service as they were contracted for by Enbridge?

MR. SMALL:  That's something we could undertake to do.  I just would want to -- you know, we would want to take a look at it.  There is probably a number of qualifiers we would want to put around the pricing aspect, for example, taking -- we would want to draw attention to the fact that the peaking -- the incremental peaking would have been more, would have been higher, if we had to go to the next block of respondents.

MR. QUINN:  Can you tell me what is on the record that would tell us that that, in fact, would be the case?

MR. SMALL:  There would be nothing on the record with respect to our RFPs.

MR. QUINN:  Thank you.  I would respect that.  Now, I want to go back to my question.

MR. SOMMERVILLE:  Do we have an undertaking?

MS. SEBALJ:  I believe we do.  We will call it J1.1, and just for clarity on the record, Mr. Quinn, it's to quantify the costs of the STFT and remove the cost of the peaking service that are currently under contract?

MR. QUINN:  Yes, similar to the methodology used in schedule 1 that the known costs are added and removed to show the net effect of 75,000 gJs.

MS. SEBALJ:  And by schedule 1, you mean FRPO IR No. 1?

MR. QUINN:  Yes, thank you, that was responded to by Enbridge.

UNDERTAKING NO. J1.1:  TO QUANTIFY THE COSTS OF THE STFT AND REMOVE THE COST OF THE PEAKING SERVICE THAT ARE CURRENTLY UNDER CONTRACT WITH REFERENCE TO FRPO IR NO. 1.

MR. QUINN:  And I want to be hopefully helpful to the Board Panel here, that I believe these numbers are helpful to understand the quantum of what we are dealing with.  I hoped that we would have opportunity to review those numbers, and I would like to, if I may, reserve opportunity to speak to those numbers later in the day when they are provided.

MR. SOMMERVILLE:  You are making an assumption they will be available later today.  The Board's expectation is that we would have written argument in this case, which may provide a bit of an opportunity for that to occur.

I am sure -- and let me request that the panel try to provide that undertaking at the earliest reasonable time so that the intervenors have the information within a reasonable time, but that gap may give you the opportunity, Mr. Quinn, if there is something that is particularly noteworthy about the information in the undertaking, for you to address that.

MR. QUINN:  Thank you, sir.  I would ask that the panel undertake to do its best, and maybe we could ask them how long they thought they might -- be able to provide that.

MR. SMALL:  It's probably something we could put together very quickly, and we will see how the timing of the morning goes, but maybe at break I could put something together.

MR. QUINN:  Sorry, sir, that was my presumption, understanding the analysis I was asking them to undertake.  So I probably should have clarified that at the outset.

MR. SOMMERVILLE:  Sure.  That's great.

MR. QUINN:  So I guess there is one final area I think that I can proceed with that may not need the numbers that will hopefully be presented at some point later on today.  So I am going to ask these questions, and to the extent there is a crossover effect, I will address that later on today.

But as a utility, you have gone through -- sorry, I just want to make sure you are comfortable.  You have gone through what your process is to plan your peak day requirements, along with seasonal requirements.  And I understand that the utility has to provide for that peak day, which will often put you in a position of having excess capacity seasonally; is that correct?

MR. SMALL:  Not in 2012 we don't, no.

MR. QUINN:  For this coming winter, you have -- every day, you use all of your contractual obligations for delivery to franchise?

MR. SMALL:  Yes.  So far in this winter, yes.

MR. QUINN:  Have you called on your peaking services every day so far this winter?

MR. SMALL:  Just to be clear, we wouldn't call on peaking service every day.

Typically, under peaking arrangements you contract for 10 days' worth of service, and that entitles you to call on that at a number of times throughout the winter.

We have called for -- I believe it was last weekend -- we called for peaking in the EDA, I believe.

MR. QUINN:  Okay.  Maybe I will ask the question this way:  Was all of that for delivery to your franchise?  Have you used those capacity rights for delivery to your franchise?  Or was some of that gas redirected to storage?

MR. SMALL:  No.  We would have -– if we were nominating for peaking service, we would have been on withdrawal, as well.  It's not like we would be calling for peaking service and not taking any gas out of storage.

MR. QUINN:  To be clear -- maybe my question wasn't clear -- for every day this winter, you have taken your entire transportation rates and delivered that entire amount to franchise, and not redirected any of it to storage?

MR. SMALL:  We have been on withdrawal pretty much all winter.

MR. QUINN:  So none has gone to storage?  Were there any transactions that occurred to not have the -- any gas in excess of your franchise needs?  Was any of it transacted in the market?

MR. SMALL:  There might have been days when they were able to take opportunity of -- because of our transportation contracts and having multiple receipt and delivery points, they may have been able to take opportunities where they could have entered into a transaction service deal, if that's what you are alluding to.

But just to be clear, we are not going to enter into a transactional service deal if, in any way, it's going to cause an incremental cost to the customer.  For example, we are not going to enter into a transaction service deal and then call for curtailment, for example.  There have been situations in the past where we did unwind transactional service deals because we were calling curtailment.

So our first and foremost is to make sure that we are going to meet the needs of our utility customers, and if circumstances occur on the day where we can exchange gas on a section of pipe and not hinder our ability to meet the demands of the customer, then we would do that and that would form part of the transactional services which under transportation deals are 75/25 split with the ratepayer.

MR. QUINN:  Again, you have provided additional detail, but to be clear, the transactional service deals, you are speaking of -- a subcategory of that is transaction optimization?

MR. SMALL:  There's two elements to our transaction services, if you will.  There is the transportation optimization, and there is storage optimization, as well.

MR. QUINN:  Thank you.

And again, in this case we do have some numbers, so if I can refer you to VECC Interrogatory 15 found at Exhibit I, Tab 8, schedule 15?

MR. SMALL:  Yes, I have that.

MR. QUINN:  I will just allow people to catch up.

So this IR breaks down the past five years of the trends, transportation storage deferral account; is that accurate?

MR. SMALL:  Transactional services deferral account.

MR. QUINN:  Sorry, transactional services, are they?  Thank you for the clarification of the acronym.

And it's broken down between storage and pipeline optimization, as we see in the respective columns?

MR. SMALL:  And the reason we need to do that is because of the difference in the sharing mechanisms.

MR. QUINN:  Well, I want to focus on pipeline optimization, and I have no questions to this point on storage.

And what we see is the level of net revenue that has gone into the TSDA over the last five years.  Now, it says "net revenues" so would I be accurate in saying the cost of the asset is not part of the deduction to come to net revenue?

MR. SMALL:  The cost of the asset, or the cost of the contract?

MR. QUINN:  To be very specific, the fixed demand charge, which is the majority of the contractual obligation, is that deducted to come to the net revenue amount?

MR. SMALL:  Typically, what we are showing here is the revenues that we would have received from the counterparty that we entered into the transaction with.  And there may have been operating costs, such as fuel costs, on the day that would be offset against that revenue.

But the revenue underpinning the transaction would be based upon the price spreads between the two points.  When you are doing pipeline optimization, you are doing gas exchanges where you are giving gas to a counterparty at one location and getting gas back at a different location on the day.

So for example, our transportation contracts with TransCanada allow us to deliver gas to the Iroquois export point, so we may give gas to a counterparty at Iroquois and they'll give us gas back at Dawn.

So on the day we are whole, but there is a price spread there between the Iroquois and the Dawn, and that would represent the revenue that we would be collecting from them for purposes of the transaction.

MR. QUINN:  At a risk of displaying my lack of accounting background, maybe I can ask Mr. Culbert -- ask the question differently.

Would the costs, the demand costs of the pipeline, be recognized in this calculation as a sunk cost, and therefore not deducted from the revenue to achieve the net revenue displayed in this interrogatory response?

MR. SMALL:  I will see if I can explain it this way.

If on a day we are going to pay a demand charge to TransCanada for the transportation service, we are going to buy gas and fill that transportation.  So we have incurred the transportation cost to move the gas here, so that cost is a sunk cost and that's a cost of me acquiring the gas and bringing it here.  So I am going to include that as part of my overall purchase cost.

If they are able to do a deal with a counterparty where they can drop gas off at a particular delivery point and get gas back at a receipt point, independent of -- they will evaluate the value of that service, so the incremental amount or the revenue that we would collect from the third party would represent the revenue.

The only thing that would be offset against that is if there is, as I said, some fuel costs associated with that transaction.  So if we incurred fuel costs, we would offset it against that revenue.

MR. QUINN:  So the demand cost is sunk, and not part of the calculation?

MR. SMALL:  We are going to include -- I guess when you say it's not included as part of the calculation, the counterparty is going to look at what the value is, and the value of that service is going to be inclusive of what the transportation cost is, including any demand charge.  So they are going to look to see what the value is to them.

MR. QUINN:  That's the value --


MR. SMALL:  So it's the incremental amount, if you will, that represents the transaction services revenue.

MR. QUINN:  That's the value as perceived by the buyer.  As the seller, who is bearing the cost of the demand?  Is it the pipeline optimization account, or is it part of your gas supply plan borne by the ratepayers?

MR. SMALL:  It's being borne by the ratepayers, because I am still buying that gas on the day and moving it on the transportation.

MR. QUINN:  That's the simple point I was trying to make on an accounting level.

Maybe, then, to jump to the dollars, then, we can see from 2007 to 2010 the net revenues range between 8,200 and 9,600.  Would you take it, subject to check, that the average equates to about to $9,200 per year?

MR. SMALL:  That's fair. 

MR. QUINN:  And then we see in 2011, which is on page 2, that the net revenue increases to almost 12.8 million, which is almost a 40 percent increase in one year.  Would you take that 40 percent as being a round number, subject to check?

MR. SMALL:  Sorry, I apologize.  I missed that last part.

MR. QUINN:  I was using the average of 9,200 as the base; an increase to $12.794 million would equate to almost a 40 percent increase for one year?  Would you take that, subject to check?

MR. SMALL:  That sounds about right. 

MR. QUINN:  So I guess -- I believe it's reasonable to draw the conclusion that there were additional opportunities to optimize pipeline space in 2011.  Would you agree with that?

MR. SMALL:  What I would agree to is that for whatever reason, our counterparties that we enter into transactional services with, they saw financial opportunities.  And the value of transport, for whatever reason, in 2011 was a lot higher than other years.

So for whatever reason, the market value of that transport in 2011 was a lot higher than in previous years.  Was it a reflection of if -- I believe you are alluding to the fact that we may have had incremental transport.  I don't believe that was the case of why we got the extra revenue.

It was all based upon market prices.  We still filled our transportation, met our operating demand requirements, but third parties were coming to us and wanting to do business because of financial opportunities they had, and we were able to accommodate them.

MR. QUINN:  You used the word "value", and then you broke it down to the value of the specific pipeline optimization.  If you can give it to us off the top of your head, is there anything in your evidence that speaks to the quantity of the number of gJs that were transported and/or exchanged to equate to the $12.8 million?

MR. SMALL:  There is nothing in evidence about that, no.

MR. QUINN:  Would you undertake to provide the average of the previous four years in terms of the quantity of gJs transacted for these previous four years versus 2011, and if it's easier, just give us 2010 versus 2011?

MR. SMALL:  I am somewhat hesitant only because I just want to make sure that -- each year is going to be different, and it's going to be dependent upon the demand in that particular year, and not just the demand in our franchise area, but the demand in other areas, as well, for example, northeastern United States, but as well whether or not there are financial opportunities, large or small, perceived by those counterparties.

So each year is going to be different.  So it becomes somewhat difficult when you are just trying to compare how much gas was for pipeline optimization, how much exchanges were done in a particular year, and simply trying to compare them one year versus the next.

So, I mean, I'd have, to first off, find out how difficult it would be to get that information going back into historical.

MR. QUINN:  Well, then I will simplify my request to compare 2011 to 2010 and the actual amount that's transacted.  Your proposition is it's the value that people would be willing to pay for the service, and that may appear in the information you provide.  So I have asked for the quantity of gJs transacted.  We can do the math between the net revenue realized and the quantity transacted to say what is the value per unit of gJ, but ultimately it comes down to how much was transacted in 2011 versus 2010.

MR. CASS:  Mr. Chair, excuse me.  The difficulty I am having with this, and with many of these questions, is determining what it has to do with the Board's approval of just and reasonable rates for 2012.

These may be interesting questions for Mr. Quinn and it may be interesting information, but how is it going to tie back to something the Board will be doing in respect of 2012 rates, would be my question through you to Mr. Quinn.


MR. SOMMERVILLE:  Mr. Quinn.

MR. QUINN:  Yes, sir.  Thank you.  Our proposition would be Enbridge spent months dealing with intervenors trying to effect a balance between their concerns about system reliability and what ultimately consumers would have to pay for, and also what stakeholders on the market would receive.

Admittedly, FRPO was not part of the initial meetings, but we were involved at the end and voiced our concerns about what opportunities or other considerations were able to be considered to allow the market to work.

However, given the juncture of our involvement, we accepted the company had to reach a balance with other stakeholders, which needed to be revisited if a component was significantly changed, and that was the material change we referred to earlier.

So FRPO took no position on the 200,000 gJ element of it and believed things may change with the advent of shale gas from Marcellus, as Mr. Small alluded to earlier, and we would be covered by the material change that would allow us to review other solutions if Enbridge saw a material change.

When the evidence came out in this proceeding, we were surprised to find out that Enbridge had, in our view, unilaterally decided it would increase the most costly component of the agreement by almost 40 percent, with no notice to Board or intervenors until after it was contractually committed to do so.  And we think that that specific cost ought to be reviewed by the Board and ratepayers, to be given the opportunity to request relief, if it was the Board's view that Enbridge breached an agreement that it had approved.

So, sir, I am getting to the quantity of the costs that were incurred and what other material benefits the utility may have realized, as a result of the contracting, to see if there was the right balance in terms of who benefited from the system reliability agreements.

MR. SOMMERVILLE:  Thank you.  We will allow this line of questioning to continue.  We suspect that you are almost finished.

MR. QUINN:  Sir, this was my final request to clarify.

MR. SOMMERVILLE:  I think it does have some relevance to what the Board has to decide, Mr. Cass, and we leave the fine points of that for argument.

I do recognize that the witnesses have indicated that the answer to this particular undertaking, which is similar to their comment with respect to the last one, was that they would want the opportunity to qualify their answer appropriately.  And the Board would certainly expect that the value of the undertaking information would be enhanced were they to do so.

So with that, the Board will permit the undertaking to be made and answered, again, with reasonable efforts at the earliest reasonable time.  Mr. Small?

MR. SMALL:  Sorry, I just wanted to add that unlike the previous undertaking, which I am hopeful that I can put together during the break, this would be something that would probably take probably a couple of days to pull together all the necessary information, at a minimum, and I wouldn't have it available for today's purposes.  I don't know if that's helpful or not, sir.

MR. SOMMERVILLE:  Helpful may be the wrong word, but truthful.  But we can accommodate that and we can deal with that, and that, I think, makes whatever qualifications you want to make as even more valuable.

So when the undertaking comes, we will you will have to make a determination, Mr. Quinn, whether you want to reopen examination on that with a special request to the Board to do so.  And certainly the information would be available for argument purposes.

MR. QUINN:  That's very helpful, sir, and I want to distinguish the two.  The first undertaking from earlier this morning is arithmetic and has already been agreed to by the panel as being a relatively short exercise.  The second I would expect would be more for argument's sake.  So I just want to turn to Ms. Sebalj to ensure she has clarity on the request of the undertaking.

MS. SEBALJ:  I think after all that, it's actually a fairly simple-to-state undertaking.  So it's J1.2, and believe what's been asked for is the quantity of gas in gJs contracted in 2010 versus 2011.  Is that it?

MR. QUINN:  Transacted, to be specific.  So transacted for pipeline optimization through exchanges or other pipeline optimization transactions.

MS. SEBALJ:  Thank you.
UNDERTAKING NO. J1.2:  TO PROVIDE QUANTITY OF GAS IN GJS TRANSACTED FOR PIPELINE OPTIMIZATION THROUGH EXCHANGES OR OTHER PIPELINE OPTIMIZATION TRANSACTIONS IN 2010 VERSUS 2011.

MR. QUINN:  Thank you, sir.  And just with the reserve, as we talked about before in the initial undertaking, those are my questions.

MR. SOMMERVILLE:  Your reserve is subject to the Board's further approval?

MR. QUINN:  Sorry, sir.  I meant my request to the Board to be able to review their first undertaking and possibly ask questions, if that would be helpful.

MR. SOMMERVILLE:  And that, again, will be subject to the Board's further approval.

MR. QUINN:  Thank you, sir.

MR. SOMMERVILLE:  Mr. Thompson.

MR. THOMPSON:  Yes.  Thank you, Mr. Chair.

MR. SOMMERVILLE:  It's 11:07.  I wonder if we could take our break now, Mr. Thompson.  Is this a convenient break point?

MR. THOMPSON:  That's fine.  Thank you.

MR. SOMMERVILLE:  We will adjourn until 25 minutes after. It's the Board's expectation we would take lunch around 12:45 today to 1:45.  We do have a couple of days set aside for this case.  In fact, I think three days have been set aside.

Our hope was that we would maybe conclude today, and we will see how that fond hope progresses.  The Board does have a commitment for tomorrow morning, and so we would have to reconvene tomorrow afternoon, and then on Thursday.  So people can plan accordingly, unless that causes some dislocation, and the Board would hear representations on that point.

But right now we will stand adjourned until 25 minutes after.  Thank you.

--- Recess taken at 11:07 a.m.


--- On resuming at 11:31 a.m.

MR. SOMMERVILLE:  Mr. Thompson?

MR. CASS:  Pardon me, Mr. Chair.  If I might, before Mr. Thompson starts, we do have a handout.  There has been a page passed around in response to Undertaking J1.1.

MR. SOMMERVILLE:  Aha.

MR. CASS:  And I do just have one comment, if I might Mr. Chair.  Mr. Small can correct me if I am wrong.  The undertaking specifically asked that the comparable cost of the 75,000 GJs a day, if it was peaking supplies, be netted out.

I am not sure that this document does that, but Mr. Small could perhaps address that.

MR. SMALL:  What I will do is I will quickly go –- sorry.

What you have in front of you is -- columns 1, 2, 3 and 4 represent our gas supply portfolio for 2012, based upon the October 2011 QRAM reference price.  And this would have been what we filed as part of our gas supply evidence in Exhibit B-4 -- B, tab 4.

And then what I have done in columns -- and I apologize, it says columns 10 and 11, but it should be 5 and 6.  But what I have done is then made the assumption that if you were to eliminate the 75,000 a day for 90 days, that's what the 103m3 equivalent is, 179,000.  And at the prices, the average prices coming out of that October QRAM would equate to $24 million.

Now, if you go down to the "peaking service" line, what I have assumed here is that -- I had mentioned previously, I think, I believe, that the 75,000 a day, what we have assumed would be used for 10 days' worth of meeting our peak-day requirements.  So the volume that you see there of 17.9 would represent 75,000 a day for 10 days.  And that would be the average cost of the peaking supplies, and then a little farther below you see "delivered supplies"?

When -- because we contracted for the supply for 90 days, three months throughout the winter, and we only needed 10 days for peaking, the other days when it wasn't being used for peaking, we would use that to help us meet our winter demand.  So if I didn't have that, I would have to get some other supply.

And then as you go down, there is the associated transportation costs with that STFT, netting out to an incremental cost is $7.8 million, which would be in item eight in column -- it's labelled column 11 but it should be column 6.

Just to qualify, though, to come up with the dollar amounts, I simply just took the average prices from column 3.  And we alluded to -- earlier that to properly do this analysis, if I was to go out and get additional peaking supplies, based upon the RFPs that we did receive for our peaking service for 2012, the next block of supplies was a lot more costly.

So the caveat I would want to make, while this is representative of what the prices are at that time, if we were to do a detailed type analysis, this amount here at the bottom would be something less, because of those peaking costs would have to be grossed up to reflect, and the only thing I could use would be those RFPs that we had received.

And then the four columns on the right are just the --taking into consideration the middle two columns.

I hope that helps.

MR. QUINN:  Thank you.

MR. SOMMERVILLE:  Mr. Quinn, do you regard this as being in satisfaction of the undertaking?

MR. QUINN:  I believe it is, sir.  And if I may, I am just going to -- I was just going to my spreadsheet here to redo some numbers, and if I may, after Mr. Thompson if I have a clarifying question?

MR. SOMMERVILLE:  That's fair enough.  Thank you.

MR. QUINN:  Thank you. 

MR. SOMMERVILLE:  Mr. Thompson?
Cross-Examination by Mr. Thompson

MR. THOMPSON:  Thank you.  Panel, I don't expect to be very long.  I just want to try and track through some of the numbers in terms of this particular case, and I would like to start with, if I might, Exhibit B, tab 1, schedule 2, page 1 of 8. 

MR. SMALL:  Yes, sir? 

MR. THOMPSON:  And this is the build-up of the distribution revenue requirement, and then the total revenue at the bottom of the page for the purposes of the 2012 revenue per customer cap process.

And am I correct that in this exercise, at line 2 we back out the gas cost to operations at the October 1, 2010 reference price?  We see that at line 2?

MR. CULBERT:  Yes, that's correct.

MR. THOMPSON:  And then you move along and you develop with the various calculations down at line 27 the total 2012 distribution revenues?

MR. CULBERT:  Before gas cost inclusion back in.  Yes, that's correct.

MR. THOMPSON:  And then at line 28, you then add back in 2012 gas costs.  And in this exhibit, you have it at the October 1, 2011 reference price?

MR. SMALL:  That's correct.

MR. THOMPSON:  Okay.  And now has that number been updated in terms of the rates that were approved effective January 1?  In other words, is there a QRAM replacement number for that number of one million, 515.50?

MR. SMALL:  We have filed our January QRAM, yes.  And that would have been -- the QRAM reference price did drop slightly.

MR. THOMPSON:  Okay.  But just looking at these two numbers, moving from line 2 to line 28, the difference in gas costs is roughly a $90 million add-on, based on this exhibit?  Would you take that, subject to check?

MR. SMALL:  That's correct. 

MR. THOMPSON:  And as I understand it, within that number at line 28 are the gas costs related to the additional 75,000 GJs per day of STFT that you have acquired for 2012?

MR. SMALL:  That would be one of the reasons for the increase, yes.

MR. THOMPSON:  All right.  Thanks.

Now, just in terms of nailing this down in the evidence, am I correct that the additional 75,000 GJs per day of STFT replaced a component of peaking supplies?

MR. SMALL:  That was one element of it, yes.  We -- in looking at what our peak day requirement was, we recognized what we needed for additional supplies to meet our peaking requirement, so we went with the STFT.  Now, it does satisfy our peak day requirements, but then you can also use that supply to satisfy your winter demands, as well.

MR. THOMPSON:  All right.  And to just to get a handle on the degree of replacement, if you would look first to Exhibit B, tab 4, schedule 2, page 5, this is the summary of gas cost of operations for the year ended December 31, 2011.

MR. SMALL:  That's correct.

MR. THOMPSON:  And I see at line 2, peaking supplies volumes of 52,410 103m3.

MR. SMALL:  That's correct.

MR. THOMPSON:  And the total purchases and receipts for 2011 at line 10, 6,070,349.6 103m3?

MR. SMALL:  That's the volume we anticipated by in 2011, yes.

MR. THOMPSON:  Then if we go to Exhibit B, tab 4, schedule 2, page 1, I think we see there the mix that you are presenting for December 31, 2012; is that correct?

MR. SMALL:  That's correct.

MR. THOMPSON:  And at line 2, the peaking supplies are down to 37,242.5 103m3?

MR. SMALL:  That's correct.

MR. THOMPSON:  So compared to 2011, that's about a 15,000 reduction?

MR. SMALL:  That's about half a Bcf, yes.

MR. THOMPSON:  Okay.  And in terms of the STFT, do we find that in lines 7.1 and 7.2?

MR. SMALL:  That would be the transportation cost associated with that, but the commodity volumes to fill that you would see in 1.2.

MR. THOMPSON:  Okay.  So volume is in 1.2, but cost down at 7.1 and 7.2?

MR. SMALL:  Well, in 7.1 and 7.2, that's just the transportation cost that we would be paying to TransCanada for all of our services, including in this case the 75,000, but then you have also got the commodity that we are going to buy to fill that transportation capacity.  That's what I was referring to.

MR. THOMPSON:  I understand that.  Is the STFT toll primarily a demand charge toll?

MR. SMALL:  The way the TransCanada invoices you, it's equivalent of the demand plus the commodity.  It works out to be about 100 percent of the FT toll.

MR. THOMPSON:  All right.  So one of the causes, if you will, for the increase in TCPL STFT demand at line 7.1 at page 5, it's 137, almost 138 million at 7.1.  For 2012 it is close to 197 million.  One of the contributing factors there is demand charges with respect to STFT, the additional 75,000 of STFT?

MR. SMALL:  That's true, but there would also be the -one of the other elements of part of the 2012 is the migration of direct purchase volumes back to system.  So then our overall purchases would have gone up in 2011 versus 2012.

MR. THOMPSON:  Understood.  Thanks.  Now, just jumping forward, then, to J1.1, this presentation as opposed to a 2011 to 2012 comparison is really the 2012 numbers, which you have indicated are on the left-hand side of the page, and then, as I understand it, on the right-hand side of the page we would have the 2012 numbers, assuming that you adhered to the 200,000 STFT - I call it a cap - in the settlement agreement; is that what these numbers show?

MR. SMALL:  Well, it's just the reference to a cap, I am not sure I am necessarily comfortable with -- the only reason I say that, we did have those discussions during the system reliability hearing, but I think what we are trying to suggest here is, as we move forward each and every year, we are going to have to come up with a way to meet that supply portfolio and to be able to adapt to changes in our overall demand, whether it be for peak day or be for seasonal purposes, so...

MR. THOMPSON:  I don't want to hit your explanation button.  I just want the numbers.

MR. SMALL:  Sorry.  Included in the transportation cost on schedule 2, page 1 and on schedule 2, page 4 would be the 200,000 in both cases.

MR. THOMPSON:  But I was looking at J1.1.  Am I right that on the right-hand side, the STFT implicit in that presentation is 200,000?

MR. SMALL:  That's correct.

MR. THOMPSON:  And then on the left-hand side, the STFT implicit in that presentation is 275,000?

MR. SMALL:  That's correct.

MR. THOMPSON:  Now, if you could just, then --


MR. SMALL:  Sorry, Mr. Thompson.  I just remembered that would also include that 50,000.  If you recall, we assigned away 50,000 of our short haul of capacity on TransCanada to the direct purchase and substituted it with 50,000 of STFT.  So you have got really 325,000 in total of STFT in the left-hand column.

So it would be the 50,000, the 200,000, and then the 75,000.

MR. THOMPSON:  All right.  And what's in the right hand?  Is the 50,000 over there, as well?

MR. SMALL:  The 50 and the 200, yes.

MR. THOMPSON:  Okay, thanks.  All right, if you would now just join me in returning to the settlement agreement?  Mr. Quinn referred you to it, and this is at Exhibit I, tab 6.  I think it's schedule 11.

And the first page I want to refer you to is page 9, and you would agree with me that topic number 2 in the agreement deals with replacement of peaking supplies; fair?

MR. SMALL:  That's correct.

MR. THOMPSON:  All right.  And under the arrangement, I am looking at the second paragraph:
"Enbridge will reduce the amount of peaking supplies still under contract as part of its gas supply portfolio by 200,000 gJs per day."

So just stopping there, at this point you hadn't gone to STFT.  You had quite a large portfolio of peaking supplies; fair?

MR. SMALL:  That's correct.

MR. THOMPSON:  And that was a concern to Enbridge and you were striving to replace that with the STFT?

MR. SMALL:  That's correct.

MR. THOMPSON:  And so the agreement was that you would reduce the amount of peaking supplies you then held and replace these peaking supplies with 200,000 gJs per day of TCPL STFT service; correct?

MR. SMALL:  And the decision for the 200,000 was predicated upon the peaking supplies that we had assumed as part of our 2010 application.  So I wanted to make a qualifier that year over year that our peaking requirements were going to change; that's all.

MR. THOMPSON:  The agreement suggests - and I will ask you if this is a fair interpretation of it - is that that number was not to change unless otherwise agreed to by the parties or ordered by the Board.  Is that the way I should interpret the agreement?

MR. SMALL:  Well, my interpretation is that certainly the 200,000 was going to remain subject to changes or availability of other pipelines that may become available to us, and I think we were thinking specifically of Marcellus.

But in my mind, that didn't preclude us from moving forward and trying to develop a supply portfolio to take into consideration changes subsequent to the discussions that were held during the system reliability proceeding.

MR. THOMPSON:  Is it fair to suggest that as a result of this arrangement, the parties on the other side expected peaking supplies would not be reduced any further and replaced by STFT?  STFT might go down.

MR. SMALL:  Well, I think what we would have to do is if you were to go back -- now, you took me to 2011 and 2012, and there is a reduction in the peaking service from 2011 to 2012, but if you were to go back to what we had forecasted as part of our peak day demand for 2010, the amount of peaking service that we had assumed as part of our 2010 budget, when I take into consideration removing the 200,000, if I compared that with my peak day requirement for 2012, what my actual peaking supplies are are very comparable from that 2010 application.

So, in fact, in 2011 we had assumed a slightly higher level of peaking service, and then subsequent to seeing what our peak day requirement was going to be for 2012, and what we saw happen in January and February 2011, we didn't feel comfortable with maintaining the same peaking levels as we had assumed as part of our 2011 forecast.

MR. THOMPSON:  Right.  But at the end of the day, you reduced peaking supplies and increased STFT?

MR. SMALL:  I guess the trouble I am having is when you say "reduced".

There is a -- the only part I was trying to make is that, yes, there is a reduction when you are looking at 2011 versus 2012, but if I go back to the system reliability proceeding and I look to see what we had for peaking service, the -- what we have for 2012 is very comparable to that year, so I was left with a situation where, for 2012, I had to see how I was going to meet that peak day demand.

MR. THOMPSON:  All right.  Well, I am not going to argue with you.  It appears to me to be a cap, and then there was process where you could adjust the cap.  But looking at -- if we just go to the other part of the agreement that Mr. Quinn referred you to, it's the material change clause that's at page 19 of 72 in this same interrogatory response. 

MR. SMALL:  Yes, I have that.

MR. THOMPSON:  And this contemplates a report to the parties regarding the implication of the change on system reliability.

And I read that - and you correct me if I am wrong - that the concept was that if you wanted to increase the STFT or change the mix materially, that you would consult; is that the concept?

MR. SMALL:  My interpretation of it was that when you look at the second bullet there, "a material change in the availability of TCPL discretionary services," to me that meant if other services were being made available, so if we had other options other than using the current STFT -- for example, if there is a build on TransCanada where there was additional short haul capacity -- then we would come forward to say that we were moving to something like that.

And probably that would mean a long-term contract, so we would have to come forward with that.

So those were the changes I would interpret from this.

MR. THOMPSON:  All right.  Well, again, I won't get into argument. 

Did you consult -- did you report this plan to acquire 75,000 GJs per day more, and to cut peaking supplies to some degree?  Did you consult with the parties to the system integrity agreement?  I think the answer is no, you didn't.

MR. SMALL:  Well, to be fair, I mean, it's up to us to try to develop that supply portfolio based upon what the budgeted demand is for each and every year.  And it was that, what we were trying to do for 2012.  And based upon a number of things that I've mentioned, we felt that was the best way to meet that supply portfolio for 2012. 

MS. SARNOVSKY: I think one of the difficulties we have here, Mr. Thompson, is that we feel that we have implemented the system reliability decision.  So all aspects of it, we have implemented it.  We implement in 2011, and we will continue to do so in the spirit of this agreement.

What we are talking about now, though, is what our 2012 portfolio is supposed to be; we are not talking about system reliability as defined in this proceeding.

As Mr. Small said earlier, that was really to negate against the effects of direct shippers' gas coming in that wasn't firm.  We have the same tools available to us in that decision -- i.e. the use of STFT or peaking service -- that we do to manage our 2012 portfolio.

We have seen increases in our 2012 demand.  We need to meet that somehow.  So parties are trying to tie this back to system reliability hearing, and we don't feel that this is tied to system reliability.  This is strictly a prudence review for our 2012 gas cost, as we would do a prudence review for any of our gas costs.

MR. THOMPSON:  Did you consult?  The answer is no, isn't it?

MS. SARNOVSKY: The answer is no, because this is just a normal business.  This is a normal business decision that we are making, and we do this each and every year in terms of how best to serve our demand.

MR. THOMPSON:  Did you give any thought to consulting?

MS. SARNOVSKY:  Again, this is a separate issue from the system reliability hearing, so no. 

MR. THOMPSON:  Well, we can argue that, but your rationale was your peaking suppliers, in your view, were less reliable?

MS. SARNOVSKY:  Correct, and we saw evidence of that in 2011.

If you refer to --


MR. THOMPSON:  Isn't that a system integrity issue?

MS. SARNOVSKY:  It's supply reliability issue, yes, but it's not the system reliability that was defined in this proceeding of system reliability.

If I can refer you to the system reliability decision that you have been referencing, so if you can pull up Exhibit I, tab 6, schedule 11, attachment A, that I am focussing on page 43 of 72, so in the top right-hand corner.  So you should have a couple of pie charts in front of you. 

MR. THOMPSON:  This is not the decision; this is a presentation you made.

MS. SARNOVSKY:  Correct, but it shows the impact that the agreement would have on our portfolio.

MR. CASS:  Mr. Thompson, by way of clarity, this was an attachment to the settlement agreement, which was approved in a decision of the Board.

MR. THOMPSON:  Okay.  Well, I accept that.

MS. SARNOVSKY:  I am assuming parties have this.

So what the top pie chart shows is the level of exposure that Enbridge has initially, the top level –- sorry, the top line for both the CDA and EDA, and it shows that we were 53 percent exposed, and then we have got the sub-component parts of direct purchase, peaking and CDS, and similarly for EDA, 25 percent proposed.

What we then did was layer on the system reliability decision, including the reduction of peaking by 200,000, and all the other changes that we talked about, as well.

So that gets, then, our exposure in the bottom set of the graphs down to 38 percent, if my eyes are right, and then 17 percent in the EDA.

But if you even look at the component parts where we break out peaking, what this is saying -- that to implement system reliability, we should have come down to a level of 45 TJs of peaking in the CDA and 36 TJs of peaking in the EDA, for a total of 81 TJs.

We are currently sitting at almost double that in our portfolio, so if we have implemented everything to the strict letter of this, we would have actually increased our STFT requirement and decreased our peaking. 

MR. THOMPSON:  Well, the words of the agreement on the 200,000 are there.  I think I will just move on.

In terms of your 2013 rebasing case, which has not been filed, is there a plan to address increased peak requirements in that case?  In other words, is that an issue in the rebasing case?

MR. SMALL:  If I could answer that in two ways, for purposes of developing our 2013 application, because of timing and everything like that, the peak day requirement for 2013 under our current design-day criteria, we used the same design-day as 2012.  So there is no increase in 2013 relative to our current design-day on the design peak day.  And to satisfy that peak day demand, we used the same tools that we used in 2012; for example, the 75,000 a day incremental amount, if you will. 

MR. THOMPSON:  Okay.  But is design-day going to be an issue?

MR. SMALL:  There will be a discussion on design-day, yes. 

MR. THOMPSON:  Would you agree with me that while changes in reference prices are a Y-factor, changes in mix are not a Y-factor?

MR. CULBERT:  No.  I guess our response is that each and every year, as Mr. Small has alluded to, the company comes up with its volumetric requirements for each and every year unto themselves, and the gas supply group tries to match what it needs in terms of a supply mix.

So each and every year, there is a change in supply mix that does occur with respect to the forecast of gas costs.  That supply mix is then used going forward for changes in -- as you referred to, changes in reference price throughout the year, but it has to be reset every year based on your volumetric assumptions and your required supply to meet that volume.

MR. THOMPSON:  Okay.  But it's not a pass-through.  It's an issue that has to be determined in each case, like average uses and all the rest?

MR. CULBERT:  Sure.  In each case, the review of the volumetric assumptions and the gas costs associated with those volumetric assumptions are completely open for review, yes, they are.

MR. THOMPSON:  Briefly back to Exhibit J1.1, do I read this correctly at line 8 to indicate that the costs here with the additional 75,000 per day of STFT are about 7. -- almost $7.8 million more than they would be under the scenario shown in the right-hand side?

MR. SMALL:  Based upon the assumptions used to develop this undertaking, yes, excluding the incremental costs for peaking, which I alluded to earlier.

MR. THOMPSON:  Right.  And you didn't give any numbers there.  You said it would be somewhat less.  There is nothing in the record to help us with that.

But even taking your generalization that it would be somewhat less, would it be fair to say the number would still be a higher cost under the STFT scenario than the scenario shown on the right-hand side?

MR. SMALL:  It would be, yes.

MR. THOMPSON:  Thank you.  Now, finally, with respect to VECC schedule 15 that Mr. Quinn was referencing you to, let's just turn that up.  That's Exhibit I, tab 8, schedule 15, page 2.

And what Mr. Quinn took you through is that the pipeline optimization revenues have increased fairly significantly 2011 over 2010, the net revenues.  That's correct, is it not?

MR. SMALL:  That's correct.

MR. THOMPSON:  Okay.  And am I correct that the fact that in 2012 you will have more STFT than you had in 2011 and the demand costs in relation to that STFT will be recovered from ratepayers - in other words, they don't show up in this transactional services deferral account calculation - the mere fact that you have more pipeline capacity rather than peaking services, am I correct that increases your opportunities for pipeline optimization transactions in 2012 compared to 2011?

MR. SMALL:  I would -- the difficulty I have in responding to that is because so much of pipeline optimization is going to be dependent upon what the various demands are within our franchise area and within other areas, as well.  I mentioned the northeastern United States.  But the other underlying factor, too, is going to be price spreads, as well.

So just to suggest that because there is more firm transport we may have more opportunities, it's hard to say, unless the opportunities are there which are going to be driven by the demand and driven by the price.

So I wouldn't want you to think that just automatically we are going to achieve those levels of pipeline optimization dollars.  I mean, not that pipeline and storage are related, but you look at what happened to storage optimization in 2011.  It -- I mean, we talked about pipeline optimization being at an all-time high.  Well, the storage optimization was at an all-time low.

So it's all going to be dependent upon the market forces and pricing information.

MR. THOMPSON:  All right.  I don't quarrel that market forces will be important, but the mere fact you have more pipeline committed for increases the opportunities, all other things being equal?

MS. SARNOVSKY:  As the portfolio sits right now, though, that incremental STFT that you are talking about is fully utilized for franchise requirements.  So we are using it each and every day of those 90 days.

So it's being utilized for franchise needs.  It's not available for TS.

MR. THOMPSON:  To the extent, though, it's not used on any day or any few days, it's available for pipeline optimization transactions?

MS. SARNOVSKY:  Correct.  And it could be one day out of 90 or it could be zero days out of 90.

MR. THOMPSON:  Or it could be 90 days out of 90.  Who knows?

MS. SARNOVSKY:  It's definitely not, because we are already into January.

MR. THOMPSON:  If that happens, the owner gets 25 percent of the net revenues; correct?

MS. SARNOVSKY:  That's the sharing mechanism, yes, and 75 percent to ratepayers.

MR. THOMPSON:  Thank you.  Those are my questions.

MR. SOMMERVILLE:  Thank you, Mr. Thompson.  Mr. Shepherd? Mr. MacIntosh?  Mr. Buonaguro?  Mr. Brett?
Cross-Examination by Mr. Brett

MR. BRETT:  I just have one or two questions following up on my friends.  I didn't anticipate I would have them.

But, Mr. Small, could you just remind me?  Your peaking service contracts, are they purely volumetric contracts?

MR. SMALL:  There is a demand component, a demand charge component to them, as well as a commodity component.  So you are going to pay the demand charge to the supplier whether or not you take one unit of supply from him.

MR. BRETT:  Okay.  So you have got a commodity component and a demand component, and just remind me at a high level:  How is that demand component normally calculated?  Does that have to do with his pipeline charges?

MR. SMALL:  I am assuming so.  I am not privy to how they come up with their demand charge.

MR. BRETT:  No.  Okay.  And you had mentioned a while back, I think in response to one of Mr. Quinn's questions, that you would never do a transactional -- you would never do an optimization -- a transportation optimization transaction if the result of that transaction were to increase the overall cost to ratepayers.  Have I got that right?

MR. SMALL:  That's correct.

MR. BRETT:  Now, does that mean, in effect, that you would never do a -- you would never do a pipeline optimization transaction if, at the same time, you were taking peaking service?

MR. SMALL:  Sorry, I am just trying to think under what circumstances that would occur, because if we are calling peaking service, then we need gas in the franchise area.  And if our -- if we are calling for that peaking service, then we need everything we can get into the franchise area.

So I can't imagine why we would be entering into a transactional service on a day where we would be doing a gas exchange that would preclude us from getting gas into the franchise area.

MR. BRETT:  Thank you.  Those are my questions.

MR. SOMMERVILLE:  Thank you, Mr. Brett.  Ms. Sebalj?
Cross-Examination by Ms. Sebalj

MS. SEBALJ:  We just have a few questions remaining and taking it back to the sort of 40,000-foot level.

Your evidence with respect to sort of the rationale for having to contract for these peaking supplies is provided at B-4-1 of the evidence and at page 5 of 6.  I don't think you have turn it up, but I'm just going to read it into the record, you say:
"During January 2011 and February 2011 when curtailment was called by Enbridge, those concerns became a reality."

And I think you are referring to a previous sentence, which says:
"Enbridge had observed that largely the same suppliers were providing peaking supply, direct purchase supply and curtailment delivered supply."

MR. SMALL:  That's correct, yes.

MS. SEBALJ:  Sorry.  I just lost my spot, sorry.
"Those concerns became a reality.  Certain direct purchase customers had their MDV deliveries cut by their suppliers, as well as cuts with respect to CDS nominations."

That's curtailment delivered supply.
"In addition, the company did not receive deliveries as a result of one of the peaking suppliers having their supplies cut.  This has led the company to lower the amount of traditional peaking supplies that it will plan to acquire in 2012.  To compensate for this reduction, the company has included an additional 75,000 GJ per day of TCPL STFT for three winter months.  The company has also taken an assignment of 26,956 GJ per day of TCPL FT Empress to Iroquois capacity."

And I realize that's what we have all been talking for the entire morning, but I just thought I would put it out there, because I want to pull back and talk about a few things in this paragraph.

And the first is this -- during January 2011 and February 2011 when this event occurred, is that an unusual event, from Enbridge's perspective, from a historical perspective?

MR. SMALL:  From an historical perspective, yes, although in the last couple of years we have been concerned about the tightening, if you will, on the TransCanada system and concerns about whether or not there would be issues on TransCanada, and the move to greater and greater discretionary supplies being moved on TransCanada, and in the event that there was an issue, whether or not those supplies would be cut.

So while we haven't seen it, it's been something we have been concerned about. 

MS. SEBALJ:  And that concern became a reality, obviously, in early 2011.  And so that's sort of what I am trying to get to here, is these -- this strategy that you have implemented or that you planned to implement is one that will be on a go-forward basis, based on your assessment of these tightening supplies on TCPL?

MR. SMALL:  What I was trying to allude to earlier is that I think what we would do is we would take a look at each year in isolation.  We start off by developing whatever that our demand forecast is going to be on a daily basis, and then we try to determine how we are going to meet that demand forecast, and then we will look to what services are available to us to meet that.

And if circumstances were to change in the future, with Marcellus coming on, for example, or other short haul transportation, or for that matter, construction, major construction projects coming on, there may be opportunities for us to make changes to our supply portfolio and change the mix of those supplies.

So we have to look at each year on a case-by-case basis.

MS. SEBALJ:  Okay.  That's helpful.  But just to finish off that point, this is not, in Enbridge's view, a unique circumstance; this is something that -- in other words, it wasn't just something that happened in 2011 and is not likely to happen going forward?  It changes completely Enbridge's view of its demand portfolio going forward?

MR. SMALL:  Well, how we are going to satisfy that demand.  That's fair.

I mean, I alluded to before that our peak day requirements did -- forecast basis did go up by a large amount in 2012, and we had to satisfy that.

So what was the optimal way to satisfy that?

MS. SEBALJ:  And to finish off, what you just said is it may just be for 2012, depending on what other projects may come online, and what other ways you may be able to satisfy that demand?

MR. SMALL:  Certainly we would expect to see changes in the peak day requirement year-over-year, but what assets are available to us to satisfy that could change year-over-year, as well.

MS. SEBALJ:  I note in that same paragraph, it says:

"This has led the company to lower the amount of traditional peaking supplies that it will plan to acquire in 2012."

Just for clarity for the record, this -- you have contracted for this supply?

MR. SMALL:  The transportation, yes.

MS. SEBALJ:  The 75,000 GJs?

MR. SMALL:  Yes.  That contract is already in place.

Just to be clear, we would contract for the commodity to fill that transport through monthly RFPs or on the day, as we go through the winter season.

MS. SEBALJ:  And I think you just provided to Mr. Brett the general arrangements in the contract, that it's, at least in part, a take-or-pay arrangement.

MR. SMALL:  It's all take-or-pay.

MS. SEBALJ:  It's all take-or-pay.  I had questions on the cost consequences, but I think we have dealt with that.

Just to sort of finish off on this question of the material change in circumstances that has been discussed in both your discussions with Mr. Quinn and Mr. Thompson, I take it from your responses to their questions with regard -- and I am referring of course to the system reliability agreement, settlement agreement, and the material change provision.  I take it from your responses that it's Enbridge's view that it did not have to consult with the stakeholders prior to embarking on this revision to its supply plan.

MR. SMALL:  Well, yes, and I think the reason for that is because of a number of things we have mentioned, and Ms. Sarnovsky alluded to those pie charts.

In fact, the level of peaking service that we have for 2012 is, in fact, traditional peaking service is a little bit higher than what we would have had for 2010. 

So then you come back to what it is that we are trying to do for 2012, and really, we are trying to figure out the best way to satisfy not only our peak day but our seasonal annual demands, and developing a supply portfolio that ensures that we can meet all the demands of our customers.

MS. SEBALJ:  I guess my question, then, is what is -- and this is may be more of a question your legal counsel -- Mr. Cass may have an issue with this question.  It may be a legal question, but I am wondering if there is the potential for overlap, then, between what Enbridge perceives as its requirement to meet the demand in its service area versus when, under the system reliability agreement, it is required to consult when a material change has occurred.

So I am trying to understand here that there appears to be a gap as amongst the parties about whether consultation was required in this circumstance.  So I guess the question to you is:  Under what circumstances does Enbridge think that it is required to consult under the system reliability settlement agreement?

MR. SMALL:  I guess the way I would answer that is that I alluded before to Mr. Thompson that when we looked at the system reliability proceeding and what -- the discussions that were going on there, we were having discussions of what services were available to us at that particular time and how we were going to try to rectify a number of issues.  And I think we have done that, and the material change that is referred to as part of that agreement, in my mind, still relates back to changes in the overall landscape, if you will, whether or not there are other services that are built, other transportation that's available, how we might be able to meet the demand.

But then it comes down to what is it that we are trying to do for 2012, and quite frankly, we are trying to come up with what we think is the supply portfolio, which is something that we do year over year over year.

So I don't see what we did in 2012 as being a need for a material change, because we still followed along with the outcomes of that, and what we had as services available to us haven't changed. 

MS. SEBALJ:  Okay.  Thank you.  Those are Board Staff's questions. 
Questions by the Board


MR. SOMMERVILLE:  I guess I am going to just follow on that question, and it had to do with:  What is the real distinction between establishing what you need in order to meet your franchise requirement and system reliability?  Where is that line?  How does -- where does one begin and the other end?

I mean, clearly the Board in a previous decision found that there was a value in having the utility talk to its stakeholders about how you manage your system reliability obligation.

How is that distinct from establishing the requirement that you have on an annual basis to serve the franchise requirement? Is there a distinction?

MR. SMALL:  If I was to try to make a distinction, I think the distinction would come into play if there are new services available to us.  I mean, certainly the system reliability proceeding, we wanted to address specifics with respect to the direct purchase and work with them to assign them some of our capacity.

If there are significant changes -- and we are seeing return to system, for example.  If that continues, the issue with respect to direct purchase customers may change dramatically.  So to me that's a significant change.

But in the current landscape of how things work, there are only so many ways that we can get gas into our franchise area.  We are trying to use the same tools that were available as part of the system reliability, and we are somewhat handcuffed in how we can meet that demand.

I guess my -- sorry, just to add, in a year from now or two years from now, with the advent of Marcellus, to me that becomes a significant change in how we otherwise satisfy the demands of our customers.

I would liken that to something like when we first started moving gas on Alliance and Vector, for example.

MR. SOMMERVILLE:  The advent of Marcellus or some other facilities is specifically noted in the security supply settlement agreement as one of the material change in circumstances categories.

But if either -- TCPL, for example, the availability of gas from TCPL sort of fell off the table somehow or changed in some material way, or if there was a new -- I guess construction of new facilities that increased the availability of short haul firm transportation service to Enbridge's franchise area, those words are specifically in the agreement.

So it seems to me the agreement sort of tried to contemplate that.  Ms. Sarnovsky, you indicated that you felt that you were in sort of substantive compliance with the spirit of the reliability agreement.  Does that mean that -- and I am not sure that this was fleshed out in the evidence.

Does that mean that the steps that you have taken for 2012 are proportionately analogous to where you were before?  Is that your point, that you complied with the spirit of the system reliability settlement agreement?

MS. SARNOVSKY:  In the 2011 portfolio, we implemented each of the factors, each of the elements of the system reliability decision, and we carried that forward in our 2012 planning.  We then have been faced with, as Mr. Small said, increased demand and return to system and less curtailment.  That necessitated us to re-look at our portfolio for 2012 and determine a manner in which to serve that excess demand.

And when we went through the analysis process, we determined that the most optimal way to do so was through STFT.  So I hope that's helpful.

MR. SOMMERVILLE:  Thank you very much.  Re-direct, Mr. Cass?
Re-Examination by Mr. Cass

MR. CASS:  I think I just have one question, Mr. Chair, if I may.  Much of the cross-examination, or perhaps all of it, seemed to be directed towards STFT as opposed to peaking supplies as an option for the gas supply portfolio.

I wonder, could the panel summarize the considerations that the company would take into account in comparing those two options for its gas supply portfolio?

MR. SMALL:  I think we said this a couple of times, but as part of the development of our supply portfolio, the first thing we are going to do is identify what that requirement is or what that need is, and then we are going to look to see what we believe to be the optimal peaking supply that we should take.

To do that, we would review what that overall level is, how counterparties have responded to peaking service in the past, keeping in mind that ultimately we need the gas in the franchise area.  So additional supplies, say, at Dawn aren't necessarily going to -- well, they won't be valuable to help us meet peak day, because there is no way of getting that gas into the franchise area.

So you are kind of left with one of two options, your traditional peaking service or long haul STFT directly into the franchise area.  So when you are trying to evaluate what option you should take, you are going to look at that overall level of peaking service you have, and, quite frankly, if it's approaching levels that are quite high, you start to look at how counterparties performed in the past and you may not just feel comfortable with acquiring large amounts of peaking supply.

So then you are left with the only viable option, which is the STFT.

MR. CASS:  Thank you, Mr. Chair.

MR. SOMMERVILLE:  Thank you, Mr. Cass.  Mr. Quinn?

MR. QUINN:  I apologize that I wasn't able to draw your attention.  I was wondering if I may be able to ask the questions to the undertaking that was provided early this morning.  I want the make sure we are efficient, and I want to respect the 12:45 time frame.  I only have a couple.

MR. SOMMERVILLE:  We will give Mr. Cass an opportunity to re-direct on any questions you may ask.  You don't have a lot of questions?

MR. QUINN:  No, not a lot.  They are drawn into -- with the undertaking J1.1 that we were served earlier.  So with your leave, I will proceed.

MR. SOMMERVILLE:  Okay, go ahead.
Further Cross-Examination by Mr. Quinn

MR. QUINN:  Thank you.  I appreciate that Enbridge has put this together quickly, and it's helpful to us and to the Board to ask questions.  So I am going to try to be precise in my question, expecting it's hopefully a clear answer.

Mr. Small, in going through your derivation of the analysis I agreed with, you had also said that the peaking supplies cost which was reflected in the column 5, which is labelled column 10, if you needed more peaking supplies, you believed that the cost would be higher.

And my specific question is:  Once you had received the bids and contracted for the supply with the successful bidders, did Enbridge go out again to market to test its concern about the cost being higher and to test to see if its existing -- its agreed-to suppliers could provide more at a price somewhere between the initial bid price and its higher price, which it had rejected previously?

MR. SMALL:  Sorry, Mr. Quinn, could I just -- if I understood you correctly, you are asking that -- okay, we are now in the receipt of our RFPs from a number of counterparties listing out what they could provide us for peaking service and at what cost.  And if I understand you correctly, you are asking whether or not we would then have said, Okay, I will go to those suppliers to meet my need.  Are you asking if we then would have gone back to those same suppliers and said, What price would you give me if I ask for more?

MR. QUINN:  What I am saying is that in receipt and acceptance of the bids that you did entertain and accept, there is now a different decision point.  Do you go out and get more STFT, which you could in the next few months go out and do, or do you go back to the market, now that a market price has been established which you believe is acceptable, and go out and say to the market, and especially these three suppliers, Here is another bid, and we want an incremental amount and to see what the price would then be from the market?

MR. SMALL:  I don't believe that it would work that way.  If you went back to that same supplier, there is no guarantee that they would then want to adjust their existing bid for the supplies that you have already -- because essentially you have asked them to change their bid.

MR. QUINN:  No, sir.  I am saying that you have already contracted with -- you have accepted the lower bids that you deemed to be acceptable, so now you have a separate decision point.  I have a gap still in my portfolio; do I fill it with STFT, or do I go back in a month when conditions have potentially changed and see if there is an enhanced price that is somewhere between what I did accept and what I did reject before I went out and contracted for STFT?  Did you do a second bid?

MR. SMALL:  No, we did not.

MR. QUINN:  Thank you.  That was the question in the area.

The second question pertains to PGVA adjustment, and we didn't cover this earlier on in the discussion, because I had hoped to be able to see the document which you provided.

The PGVA adjustment, as I understand it -- and correct me if I am wrong -- is to allow the utility to bridge the gap between planned and actual results, so there is an expected PGVA adjustment that would compensate for actual results?

MR. SMALL:  Actual results being the actual prices that we pay for the various supplies, because we are going to have to design rates on a forward-looking price curve, and that would be how we would develop our PGVA reference price.

So to the extent that we are able to acquire those supplies at something other than that forecasted amount, we would be putting dollars into the PGVA for either subsequent collection or disposition to customers.

MR. QUINN:  Okay.  So I think I have accurately understood that.

So it is helping to make sure that actuals are accounted for, because they could vary from planned --


MR. SMALL:  The theory being that customers are going to pay for the gas that we acquire, so they are going to pay the same gas costs that we do.

MR. QUINN:  So I asked you some questions about how you effect the actual -- this is the plan, and you have an actual effecting the plan.  And you answered a question for me about that you would not enter into optimizations if it was going to add undue cost to the customer, but then in talking to Mr. Brett, you said if it would preclude gas getting to the franchise.

And I guess I want to bridge the gap between hypothetical and concrete.  I think we are all aware that TransCanada had an explosion and subsequent constriction on the line last February, and I guess I want to ask:  During that period when there were restrictions on the TCPL line and specifically the latter half of February of last year, did, on any day, Enbridge contract with peaking services and call on peaking services, while at the same time entering into pipeline optimization transactions?

MR. SMALL:  I don't know that specifically; I would have to go back and check.

MR. QUINN:  We have asked in the Undertaking J1.2, sir -- and I thought about this -- is they are going to have to go back and review the transactions for the quantity.

They can look at those specific dates to see if there were pipeline transactions that occurred at the same time as peaking service.  If you would be accepting of that, and Mr. Cass, we could just add that to the undertaking, to be efficient.

MR. SOMMERVILLE:  Mr. Cass?

MR. SMALL:  Sorry, I just want to add one thing.  Sorry, Mr. Cass.

Again, just to qualify, I mean, as part of our gas supply operations, we are going to be looking at what the demand is going to be over the next few days and how we plan to meet that demand.  And if we are able to meet that demand through our contracted supplies, including our peaking supplies, we would do so.

And dependent upon what the overall demand is, if there is an opportunity, then gas control would allow our gas supply group to do a transaction service, but only if all our obligations were being met.

So then all of a sudden there is a situation that occurred on February 20th, I believe it was.  Then a lot of things are going to happen and then we are going to be scrambling around to see if gas supplies are showing up or not.

So I just want to caution, if we are looking at that specific day, there may not have been an opportunity to alter any of those deals that were already entered into, when they were already entered into when it was something that we could manage.

MR. QUINN:  Okay.  And we would accept, as we had earlier, there would be some caveats in terms of the analysis.  So if you would just undertake to determine if on those days, February 20th to the 28th, were there days where there were peaking service called on and pipeline optimization occurring on the same day.

And you could just maybe quantify those numbers.  That would help us.

MR. CASS:  Mr. Chair, I don't accept that this is relevant in any way.  However, given the undertaking that's already been agreed to, if Mr. Small does not see this as a large increment to the work, I am prepared to proceed on the basis that the undertaking would be given.  And we can leave the argument for final argument.

MR. SOMMERVILLE:  That's very agreeable, Mr. Cass.

The Undertaking 1.2 will be amended to include an analysis of transactions between February 20th and 28th of last year.

MS. SEBALJ:  And specifically whether peaking service and pipeline optimization were occurring on the same day.

MR. QUINN:  Yes.  Thank you, sir.

MR. SOMMERVILLE:  I also wasn't sure whether that actually related to J 1.1, but that's okay.

Are there any further questions for this particular panel?

Mr. Cass, do you have any redirect?

MR. CASS:  No, I don't, sir.  Thank you.

MR. SOMMERVILLE:  In which case the panel is excused.  Thank you very much for your assistance, and I know that some of you will be back shortly.

We will adjourn now until 1:45.  Thank you.

--- Luncheon recess taken at 12:38 p.m.

--- On resuming at 1:48 p.m.

MR. SOMMERVILLE:  Thank you very much.  Just a little bit of scheduling information.  The Board will sit today until 4:20.  We will resume tomorrow at noon with a view to finishing the outstanding matters tomorrow afternoon.  Does that cause any difficulties for anybody?

I am not hearing any squeals of disagreement, so we will rise today at 4:20 sharp.

MR. SHEPHERD:  Is it your intention to sit tomorrow until we are done, no matter how long it takes?

MR. SOMMERVILLE:  I think the Panel would certainly be prepared to do that.  That does create some complications in different ways, but I think the idea will be we will try and complete tomorrow.

MR. SHEPHERD:  Thank you.

MR. SOMMERVILLE:  Mr. Cass.

MR. CASS:  Thank you, sir.  The panel, as the Board can see, is a little larger than the first panel.  Mr. Culbert has returned.  He doesn't need to be sworn again, obviously.  I will introduce the other members of the panel, and then perhaps they could come forward to be sworn or affirmed.

Next to Mr. Culbert is Sagar Kancharla.  He is director business performance.  Then is Asha Patel.  She is supervisor of finance operational support; Manual Monteiro, who is a partner with Mercer; and, finally, Sheila Trozzi, who is manager business services support. 
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Examination by Mr. Cass

MR. CASS:  Mr. Chair, I have a few questions in examination-in-chief for this panel.  It won't be terribly long.  I thought it would assist the record and the participants.  There was a written outline sent out yesterday of the questions and answers in examination-in-chief.

MR. SOMMERVILLE:  It is headed "Deferral Account - 2012", and then a series of questions?

MR. CASS:  That sounds like it might be for the next panel.

MR. SOMMERVILLE:  Yes.  That's the pension.

MR. CASS:  Yes.  Mine is headed "Z factor 2012 Pension Funding".

MR. SOMMERVILLE:  I don't believe the Panel has that, Mr. Cass.

MR. SCHUCH:  I have some copies here.

MR. CASS:  First, could I ask the panel to confirm that the evidence with respect to the Z factor request for pension costs was prepared -- including answers to interrogatories, was prepared by you or under your direction or control?

MR. KANCHARLA:  Yes.

MR. CASS:  And is that evidence accurate to the best of your knowledge and belief?

MR. KANCHARLA:  Yes.

MR. CASS:  Thank you.  The evidence refers to a change in pension regulations.  Can you please explain what that change is about?

MR. KANCHARLA:  On June 23rd, 2009, which is the second year of EGD's incentive regulation term, regulatory changes were introduced to the Pension Benefits Act of Ontario.  One particular change is relevant to today's discussion, the Z factor, which is that for the fiscal years 2009 to 2012, plan sponsors who are taking contribution holidays are required to file a cost certificate with the Financial Services Commission of Ontario as evidence that sufficient surplus remains in the plan to justify the contribution holiday.

If a contribution holiday cannot be justified, then contributions must resume in accordance with the most recently filed evaluation with the Financial Services Commission of Ontario.

MR. CASS:  Is the company's plan in a deficit or a surplus position?

MR. KANCHARLA:  A based on the Mercer's estimate for December 31st, 2011 valuation, Enbridge Gas Distribution pension plans are in a deficiency position under the solvency basis. Contributions are triggered when there is a deficit under a going concern basis or on a solvency basis.

MR. CASS:  How did the plan that was in a surplus position before incentive regulation move into a deficit position?

MR. KANCHARLA:  The main contributors to the deficiency position that we are seeing in 2012 are the contributions were not required for the plan for a long time, even though annual pension service costs were incurred.  That's one.

The second one was the pension assets' performance did not keep up with the increase in the pension liabilities increase, and the third one leads from the second.  It's because the pension liabilities value increased significantly in the last year, and essentially due to the discount rates that are used for the liabilities valuation.  And the discount rate is -- it's based on long-term Canadian bond yields.

And this situation is not unique to Enbridge Gas Distribution.  The financial position of most pension plans in Canada have declined significantly due to the weak equity markets, as well as the declining interest rates.

In fact, EGD has been able to weather the storm better than most employers, because the plan was in a significant surplus position prior to the last few years; whereas many other plans were in fact in a deficit position before the 2008 financial crisis.

MR. CASS:  What was the requirement for a plan sponsor in a deficit position prior to the 2009 regulation changes you referred to?

MR. KANCHARLA:  Before the regulation changes, it was different.  It was more of a three-year valuation.  An actuarial valuation of EGD's registered pension plan was filed on December 31st, 2009.  The next valuation must be filed no later than December 31st of 2012.

If not for the regulation changes introduced in 2009, EGD could have been in a contribution holiday until the end of 2012 even with interim deficit positions.

MR. CASS:  What are the required filings Enbridge must make with the Financial Services Commission as it pertains to funding contributions, and when do they get filed?

MS. PATEL:  There are actually two reports that need to be filed as plan sponsor.  The first one is a valuation report, and this gets filed once every three years.  If this report shows a surplus, the surplus can be used to fund the service costs, and if there is enough to fund three years' worth, then you don't have to make more contributions into the plan, subject to the second report, which I will explain in a minute.

But if the valuation report shows a deficit, then contributions need to be made to the plan.  So the second filing is the annual cost certificate.  So this filing is done in between the years where the valuation filing is not filed, and it's to prove that the plan is still in a surplus position.  And if the plan is in a surplus position, then contributions do not have to be made into the plan.

MR. CASS:  Is the request for a Z factor to bring the plan to a surplus position?

MS. PATEL:  No.  The $16.6 million which we are requesting is just the 2012 annual service costs.  So because of the legislation changes that happened, the cost certificate must be filed, and because we are anticipating it to show a deficit, we are requesting the $16.6 million, which is the annual service cost.

MR. CASS:  What is the difference between contributions that would bring the plan to a surplus and contributions related to service costs?

MS. PATEL:  So the last full year valuation that EGD filed was as of December 31st, 2009, which showed a surplus that EGD thought would be enough for the next three years.  However, because of the new legislation changes in 2009, the cost certificate that we are going to be filing at the end -- as of December 31st, 2011, we anticipate it will show a deficit, which means we are going to have to fund the annual service cost.  So the annual cost, it's the present value of future benefits that are earned by employees, and that's what the $16.6 million is.

The contributions to take the plan from a deficit to a surplus don't have to be made until 2013, and it would be funded for the next five years.

MR. CASS:  How were the ratepayers impacted in the last few years related to the pension issue?

MR. KANCHARLA:  EGD currently follows a cash basis of accounting for pension amounts instead of accrual accounting.

EGD's plan was in a surplus prior to IR period and also in the first two years of IR, as well.  In the past five years, the annual service cost average approximately 30 million per year, and pension cost is a legitimate operating expense.  And because of the fortunate surplus position of the plan, the plan sponsor -- and so indirectly the ratepayers -- did not have to incur these service costs over the last five years. 

MR. CASS:  Finally, how does the company's request qualify as a Z factor?

MR. KANCHARLA:  The request qualifies for a Z factor as per the criteria established in the IR settlement.  In the evidence were given all the details for all the criteria, but in particular I would like to mention criteria two: the cost must be beyond the control of the company's management, and is not a risk in respect of which a prudent utility would take risk mitigation steps.

Change in regulation to file a cost certificate is clearly beyond the control of management, and the costs being incurred are those that would be incurred by a prudent utility to remain compliant with the Pension Benefits Act of Ontario and the Financial Services Commission of Ontario. 

So the company respectfully requests the Board to approve the inclusion of 16.6 million in pension costs as Z factors in its revenue requirement for 2012, coupled with the variance account, as well. 

MR. CASS:  That concludes the examination-in-chief, Mr. Chair.  Thank you. 

MR. SOMMERVILLE:  Have intervenors determined an order of proceeding?

MR. SHEPHERD:  Yes, Mr. Chairman.  I drew the lucky straw.

MR. SOMMERVILLE:  Mr. Shepherd?
Cross-Examination by Mr. Shepherd


MR. SHEPHERD:  Mr. Chairman, School Energy Coalition has some materials which I believe you have been provided a copy of; these are all materials that are currently in the record, and I just put them together for simplicity. 

MR. SOMMERVILLE:  Let's give it a number for ease of reference.

MS. SEBALJ:  It will be K1.1.
EXHIBIT NO. K1.1:  SEC COMPENDIUM OF MATERIALS.

MR. SHEPHERD:  My materials will accept any number.

I think my first question is for you, Mr. Culbert.  And I want you to go to page 2 of our materials, if you could, please.

And this is from your evidence; this is the updated calculation of your revenue requirement; is that right?

MR. CULBERT:  Yes.

MR. SHEPHERD:  And I just want to -- and you see here on line 24, that's 16.6.  That's the pension Z factor you are asking to be included in rates this year?

MR. CULBERT:  That's correct.

MR. SHEPHERD:  Okay.  We did a quick calculation - tell me whether this is right - that your revenue per customer, gross revenue per customer for distribution is proposed to go from 502.97 in 2011 to 516.39 in 2012, and the way we did that is just divide line 3 by line 11, and line 27 by line 17; that's correct, isn't it?

MR. CULBERT:  Subject to checking your math, if you have done the math correctly, I would agree.

MR. SHEPHERD:  Okay.  And that's a 2.67 percent increase; will you accept that, subject to check?

MR. CULBERT:  Certainly.

MR. SHEPHERD:  Okay.  We then did the calculation removing the Z factors, and by our calculation, the 502.97 would go to 506.11 this year, which is a 0.62 percent increase; does that sound right to you, subject to check?

MR. CULBERT:  Again, subject to checking your math, certainly.

MR. SHEPHERD:  So I am right in seeing that the bulk of this year's increase is this pension funding request?  Is that right?  It's about 1.7 percent of 2.7.

MR. CULBERT:  If you do it on an incremental basis, do the calculations that way, certainly if that's the way the math works.  There are other things that are included in the change.  We have cross bores and Y-factor changes that have occurred, as well, so...

MR. SHEPHERD:  Understood.  Okay.  Just before I get to the meat of this, I just want to clarify one thing in your direct evidence.  In your direct evidence, in answer to the first question, you said for fiscal years 2009 to 2012, plan sponsors taking contribution holidays are required to file a cost certificate with FSCO.

Does that mean that it stops in 2012?  Or does that just mean that for the purposes of this proceeding, it only matters up until 2012 and then it gets fixed?

MS. PATEL:  That's correct.  So it would continue after that point, as well, but for the purposes of this proceeding, we just stopped it at 2012.

MR. SHEPHERD:  So this is actually a new permanent requirement, that in the -- every three years you file this one document, and then in the interim years if you are on a contribution holiday, you have to file a valuation certificate; is that right?

MR. CULBERT:  Correct. 

MR. SHEPHERD:  Okay.  Thank you.  So then I wonder if you could turn to page 38 of your materials, and I think most of my questions are going to be for you, Mr. Monteiro.  And page 38 of our materials is Exhibit I, tab 2, schedule 8, attachment A; do you have that?

MR. MONTEIRO:  I do.

MR. SHEPHERD:  This is your document, a Mercer document?

MR. MONTEIRO:  It's prepared by my firm, yes.

MR. SHEPHERD:  This is the annual actuarial certificate that you were talking about.  This is not the valuation; this is the annual report; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  And I wonder if I could just start with page 39 of our materials, which is the "Note to reader" at the beginning of this report.

This is a set of standard qualifications that you put into your reports?

MR. MONTEIRO:  That's correct, yes.

MR. SHEPHERD:  So I shouldn't read anything into this as being particularly special with this report; this is pretty standard; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  So I am looking at the last paragraph.  One of the things that you say here is that this valuation just presents a single set of assumptions, a single scenario; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  And so if you changed -- there are lots of alternative scenarios that could be true; right?

MR. MONTEIRO:  There are changes to assumptions that you could use for a going concern valuation, correct.  But what this is really being driven by is the solvency valuation, where there is no ability to change the assumptions that are used for that valuation.  Those are prescribed by legislation or actuarial standards.

MR. SHEPHERD:  I'm going to come to that in a second.

It's true, isn't it, that when you make decisions about things like changing how much you fund the plan -- which you said here, "funding amounts" –- you're supposed to consider alternative financial scenarios; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  Now, there is three different types of valuations.  I am going to -- and this report has all three of them: going concern, solvency and wind-up; right?

MR. MONTEIRO:  Correct.

MR. SHEPHERD:  And going concern -- well, why don't you describe what the difference between the three is?

MR. MONTEIRO:  Okay.  So going concern valuation basically assumes that the company and the pension plan will continue forever, so you are making assumptions about things like investment returns, future salary increases, how long people will live, that kind of thing.

A wind-up valuation is the opposite.  It assumes that the plan is terminated as of the valuation date, and all the benefits are settled in accordance with legislation.

Solvency is something like a wind-up valuation.  The key difference is that in Ontario, there is actually provisions in the Pension Benefits Act that allow you to exclude certain benefits.  So some companies could choose in a solvency valuation not to value certain benefits that would be payable upon wind-up, and for funding purposes.

MR. SHEPHERD:  Because -- they don't value those because they don't think they have to pay them out on wind-up?

MR. MONTEIRO:  No.  They certainly have to pay them out on wind-up, but companies may choose -- the legislation actually provides that companies can decide not to fund them in advance, so essentially those benefits would be paid in a real wind-up, but the ongoing funding of the plan does not have to include the liability for that.

MR. SHEPHERD:  Okay, that sounds strange to me.  What is the rationale behind that?

MR. MONTEIRO:  Well, I mean, it's obviously a political issue.  The Pension Benefits Act, this exclusion was put in in 1992, I believe because certain large plan sponsors lobbied the government essentially to allow them not pre-fund certain benefits that were provided for in the benefit --


MR. SHEPHERD:  I guess all I am asking really is, as much as the politics may be interesting, there is no actuarial reason for this?

MR. MONTEIRO:  No, it's a construct of the law.

MR. SHEPHERD:  Okay, all right.  Before I get to the actual numbers, can you just take a look at page 42 of our materials, which is page 2 of your report?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  It says right at the top -- this is in your terms of engagement to the report.  You say:

"As instructed by the company, we have reflected a margin for adverse deviations in our going concern valuation by reducing the going concern discount rate by 0.59 percent per year."

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  So that's -- the discount rate you have used here is not the one you would have used.  It's the one that the company instructed you to use?

MR. MONTEIRO:  No, for a going concern valuation, our actuarial standards say that you should use best estimate assumptions, but then typically the sponsor might decide that they want to introduce an element of conservatism in the going concern valuation, and our standards say that it's the sponsor's responsibility to tell you how much conservatism to put in the valuation.

So that decision was made with Enbridge.  It's consistent with what other plan sponsors would typically do, and FSCO, by way of policy, expects companies to include a margin for adverse deviations in their valuations.

MR. SHEPHERD:  And reducing the discount rate -- I am going to come to the fact that it's going concern in a second, but reducing the discount rate has the effect of reducing the surplus in the plan?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  And was this new in this report, the 0.59, or was it always in place?

MR. MONTEIRO:  The number might have been different in -- there is a calculation that we perform in terms of determining what the size of the margin would be when we are discussing it with clients.  The quantum might have changed slightly from previous valuations, but it would be in the general same ballpark.

MR. SHEPHERD:  So it's not really Enbridge's number.  They make the final call, but you do some calculations and advise them on an appropriate number?

MR. MONTEIRO:  Well, what changed was that prior to 2011, it was under actuarial standards that the actuary had to choose a margin for adverse deviation.  So any valuation done up to the end of 2010, Mercer would have been responsible for selecting the margin for adverse deviations.

There was a change in standards at the beginning of 2011, which basically said that, No, now this is now the responsibility of the plan sponsor.  So we would have discussions with plan sponsors saying, If you want to continue using the kind of margin we have used in the past, this is what it would be, but it would ultimately be the sponsor's decision as to what they wanted to include.

MR. SHEPHERD:  Now, this discount rate only applies to the liability side and only applies in going concern valuation; right?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  When you are doing a solvency calculation, the solvent -- on a solvency basis, you have to use a different set of assumptions, a different set of discount rates; right?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  And that set is based not on expected market yields and things like that.  It's actually based on long Canada bonds, on bond yields, right, fixed income yields?

MR. MONTEIRO:  Yes, that's right.

MR. SHEPHERD:  And the reason for that is why?

MR. MONTEIRO:  Because what you are doing in a solvency valuation is trying to estimate the cost of settling the benefits on wind-up, subject to the exclusions that we had talked about before.  So the benefits you would pay out on wind-up, you have to purchase annuities for pensioners and other people who elect to take their benefits as a pension, and you have to pay out lump sums to people who elect to take their benefit as a lump sum.

In both cases, the assumptions used to calculate the liability for those amounts are based on actuarial standards, which prescribe what interest rates to use, and both of them are driven off of long Canada bond yields.

MR. SHEPHERD:  So did you or Enbridge exercise any judgment in the discount rates used for the solvency calculation?

MR. MONTEIRO:  No.

MR. SHEPHERD:  It's simply a list that you get?

MR. MONTEIRO:  That's right.  The actuarial standards -- the Canadian Institute of Actuaries issues a document on an annual basis describing what assumptions should be used to value liabilities expected to be settled through an annuity purchase, and then there is a separate set of standards which dictate how you calculate lump sum payments to people who elect a lump sum benefit.

MR. SHEPHERD:  And that also uses discount rates?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  Just before I leave that point, you mentioned the assumption of annuities, because with a lot of the liabilities in the plan, you actually have to assume an annuity is purchased to pay out the expected pension; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  And these are indexed pensions; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  So I saw somewhere in this report there is a problem with valuing indexed pensions; that is, getting to a net present value?

MR. MONTEIRO:  There is an issue in Canada in terms of purchasing indexed annuities.  There just isn't a big market to buy indexed annuities.  Not many insurance companies are willing to offer that product at this point.

But the solvency valuation is actually -- for the solvency valuation, we actually exclude indexing so indexing is not valued in the solvency liabilities.  That's one of the things that you are allowed to exclude under the Ontario legislation.

MR. SHEPHERD:  All right.  So still on this page 42, you see there is a reference in the third last paragraph to the change in the discount rate, and you reduce the discount rate from 6 percent to 5.75 percent for going concern basis.

That doesn't affect your solvency calculation at all; right?

MR. MONTEIRO:  No.

MR. SHEPHERD:  So this $21.6 million, no impact at all?

MR. MONTEIRO:  No impact.  That's just going concern.

MR. SHEPHERD:  Thank you.  Now let me go to page 43.  Page 43 is the full breakdown of the calculation as of January 1st, 2011; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  And this shows a $48.4 million surplus?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  And on the next page, you will see that there is the solvency calculation and it shows a $35 million surplus; right?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  And, finally, on the last page you have the wind-up calculation, which it shows a $91.2 million surplus -- deficit, sorry?

MR. MONTEIRO:  Deficit.

MR. SHEPHERD:  Yes, you wish.  And do I understand that the only difference between the last two is that when you do the hypothetical wind-up, you can't exclude those unfunded benefits?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  So, in effect, what's on page 45 is what really happens, what you expect to really happen?

MR. MONTEIRO:  If the plan was wound up on that date, yes.

MR. SHEPHERD:  All right.  So now I want you to turn, if you could, please, to page 4 of our materials.  Do you have that?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  And this is also a Mercer document?

MR. MONTEIRO:  It is, yes.

MR. SHEPHERD:  Okay.  And this was done as of August 31st?

MR. MONTEIRO:  Yes.  The projection was -- we used August 31st asset values and interest rates and projected forward from that point.

MR. SHEPHERD:  So it took you basically a month to do it?

MR. MONTEIRO:  Okay.

MR. SHEPHERD:  There is relevance to that in a second.  If you could turn to the qualifications page, I was struck by one thing, and that is, if you take a look at the third last paragraph there, that's different from your valuation certificate - and, actually, I looked around at other valuations and I couldn't find that - where you specifically highlight the change to the discount rate.  Can you tell me why that is?

MR. MONTEIRO:  That's also a change in the actuarial standards that came about beginning in 2011, where we are required when we do a valuation report to illustrate the sensitivity of the liabilities to a change in the discount rate.

MR. SHEPHERD:  Well, but your other report was 2011, too.

MR. MONTEIRO:  Yes, but if you look, if you go back to that report, in the actuarial certification --


MR. SHEPHERD:  Yes.

MR. MONTEIRO:  -- you will note -- so this is page 47 of your evidence.

MR. SHEPHERD:  Okay.

MR. MONTEIRO:  You will note that it says:

"This report has been prepared and opinions given..."

And it says:

"...in the accordance with actuarial standards, except we have excluded these two items."

And you will see one of those is the sensitivity of the valuation results to a 1 percent decrease in the discount rate.

MR. SHEPHERD:  Okay.


MR. MONTEIRO:  So this cost certificate, it is an actuarial requirement that when you present valuation results you're required to provide the sensitivity, but FSCO has advised the actuarial community, all the consulting firms, that they were not going to require this sensitivity because the purpose of this cost certificate was really to just say:  Yes, there is a surplus, or there isn't a surplus.

It wasn't really to give funding advice, so they were prepared to accept reports without that sensitivity in it. 

MR. SHEPHERD:  So then if it's not required in a cost certificate, why did you put it in a report projecting a future cost certificate?

MR. MONTEIRO:  Well, this report here, in our view, the purpose of this is to give the readers information what the funding position of the plan would be.  It's more related to funding advice.

The cost certificate is simply something that is required by legislation to be submitted.  The user of that report is FSCO, and FSCO says they do not need that sensitivity.  So we do not include things that they don't necessarily require.

MR. SHEPHERD:  See, what struck me is that in the March 31st report, March 31st, 2001 report, which was for the end of 2010, you actually did change the going concern discount rate from 6 percent down to 5.75 percent; right?

MR. MONTEIRO:  Right.

MR. SHEPHERD:  You didn't change the main discount rate in this subsequent report, did you?  You kept it at 5.75?

MR. MONTEIRO:  Right.  That's right. 

MR. SHEPHERD:  So I don't understand why you'd be now more sensitive to the issue of how the discount rate will affect your results. 

MR. MONTEIRO:  This document here is talking about uncertainties.  It was taking a projection from August 31 and trying to estimate what the position at the end of 2011 was.

So clearly one of the issues is what would happen with interest rates, and so this report is trying to illustrate the range of possibilities that could happen.

The cost certificate, on the other hand, was a point in time; we knew what the January 1, 2011 position was.  The purpose of that was to demonstrate the January 1, 2011 position.  The use that -- the usefulness of that one percent disclosure, in our view, is not there for that cost certificate, because we know what the January 1, 2011 position is.

And that's the sole purpose of that report, to demonstrate what it is.

MR. SHEPHERD:  Well, but Mr. Monteiro, the Applicant in this case is asking the ratepayers to give them $16.6 million based on a point-in-time number that you have given them; right?

MR. MONTEIRO:  Well, I think in that same report you will see that we illustrated the sensitivity of, or what kinds -- I mean, at that point we did not know what the position at January 1, 2012 was going to be.  So we had to -- we pointed out in that report:  Yes, we have come up with a best estimate, but we also included information that illustrated the kinds of things that would need to happen with investment returns or interest rates movements in order for the plan not to be in a deficit position.

MR. SHEPHERD:  Even though the discount rate on a going concern basis didn't change, the discount rates used for the solvency calculation did change quite substantially, didn't they?

MR. MONTEIRO:  They did

MR. SHEPHERD:  And that's the reason, in fact, why it's in deficit, isn't it?

MR. MONTEIRO:  Yeah.  I mean, the reason that the plan is in deficit now compared to a year ago is mainly because interest rates have declined very significantly.

MR. SHEPHERD:  Okay.  Now, were different scenarios provided in doing this report?  I looked for them in here, and I didn't actually see them and so I am wondering...

Your last qualification talks about differences in scenarios, and I looked for different scenarios.

MR. MONTEIRO:  So this report contains a point estimate, but then I will refer you to page 14 of your evidence.  At the bottom of that page, we talk about the kinds of things that would need to have happened from August 31st until December 31st in order for the plan to be in a surplus position.

So we said the pension fund return would have had to have been 16 percent for those four months, with no interest rate changes, or interest rates would have to have increased by one percent with fund returns being as expected.

Neither of those two things have happened.

MR. SHEPHERD:  It's either/or; right?  Or some combination of the two?

MR. MONTEIRO:  Right.  That's right.

MR. SHEPHERD:  Some combination of the two?

MR. MONTEIRO:  Yes.  There could have been a combination of increasing interest rates combined with good pen fund returns, which would have eliminated it.

MR. SHEPHERD:  All right.  So then I want to go to page 11 of our material, which is page 5 of that report.

And this is where you actually projected the results as of December 31st, 2011; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  And what you show is that going concern, it will still be in a surplus; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  But just barely?

MR. MONTEIRO:  Right.

MR. SHEPHERD:  And it will be projected to be in substantial deficit on a solvency basis?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  Have you done a wind-up basis, by the way?

MR. MONTEIRO:  It's not in this report.  I was not personally involved in preparing these numbers; my colleagues in my Calgary office were, so I don't know if they did a wind-up value.

MR. SHEPHERD:  Actually, I do have it.  It's on page 18.

MR. MONTEIRO:  Oh, it is?  Okay.  I apologize.

MR. SHEPHERD:  So on page 18, where I see this 219.9 million, that's the wind-up basis; right?

MR. MONTEIRO:  Right.

MR. SHEPHERD:  Again, the only difference between the wind-up basis and the insolvency basis are these excluded liabilities?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  The indexing, basically?

MR. MONTEIRO:  Right.

MR. SHEPHERD:  Okay.  So what I see here is that the assets basically move the same as -- between going concern and solvency, they move the same amount; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  Because the only difference between those two numbers is the $600,000 that you assume is the wind-up costs?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Otherwise, that's an identical calculation?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  So the only difference between solvency and going concern is that you take a different approach to your assumptions about what it will cost to pay the liabilities?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  And it's a more conservative approach, which is the reason why it's a substantially higher number?

MR. MONTEIRO:  The solvency is, yes.

MR. SHEPHERD:  Yes.  And so -- and in fact, if I look at page 18, where you see liabilities there, this is the liabilities before the excluded liabilities; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  So that increase from 828.5 million to 931.6 million, $105.1 million, that is entirely driven -- tell me whether this is right -- that is entirely driven or almost entirely driven by the change in bond rates?

MR. MONTEIRO:  It's primarily driven.  It's a year later, so there is also the cost of benefits that accrued during the year.  But yes, the key reasons those numbers are as different as they are is because interest rates went way down.

MR. SHEPHERD:  Okay.  And so just a couple of other questions on this.

On page 6 of your report, page 12 of our materials, there is a middle paragraph in there that talks about what would happen if, instead of doing the valuation prospectively, as you did, you did an actual valuation as of December 31st, 2011 and when you say a valuation there, you are talking about the annual valuation; right?

MR. MONTEIRO:  No.  As Asha mentioned, you have to file valuations on a tri-annual basis.  So the last full valuation was December 2009, so we were talking if you -- if Enbridge had voluntarily filed a valuation at the end of 2011, even though you weren't required to until 2012.

MR. SHEPHERD:  And the difference between the two situations is that -- tell me whether this is right -- is that if you do a full valuation and you are in a deficit, you have two obligations; you have to fund current, and you also have to amortize over five years your deficiency?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  And if you just have an annual valuation, all you have to do is fund current; the deficiency waits until your next full valuation?

MR. MONTEIRO:  That's right.  If your cost certificate cannot demonstrate the existence of a surplus, you have to contribute just the service cost.

MR. SHEPHERD:  So what they are basically saying is you can't let it get worse, but you don't have to fix it until the three-year cycle?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  Okay.  I get it.  Then last on this report, I wonder if you could look at page 23 of our materials.  And you might want to put your finger on page 52, as well, because I am going to compare the two.

Now, this is the discount rate for going concern; right?

MR. MONTEIRO:  That's right.

MR. SHEPHERD:  But the assumed investment return, that number is actually what you assume on the asset side, as well; right?  When you are doing the asset valuation?

MR. MONTEIRO:  That's correct.

MR. SHEPHERD:  Similarly, the additional returns for active management and the administrative expense provision, those are also part of the assumptions in valuing the assets?

MR. MONTEIRO:  Yes.  For a going concern valuation, the discount rate you are using is essentially what you expect to return on the assets, reduced by expenses and also reduced by a margin, to the extent that the plan sponsor wants to use a margin.

MR. SHEPHERD:  So this -- okay, so wait a second.  So you value the assets, then -- okay.  All right, I got that.

So the thing I wanted to ask you is you have assumed that investment returns have gone up between the end of 2010 and 2011 from 6.61 percent to 6.73 percent; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  But you have assumed that active management - that is, the fact that they actively manage their portfolio - has been cut in half from 0.23 percent to 0.11 percent.  Why is that?

MR. MONTEIRO:  I don't know the reason for that.  I wasn't involved in the preparation of this report.

MR. SHEPHERD:  Sorry, you weren't involved in this report at all?

MR. MONTEIRO:  My Calgary office, my colleagues in the Calgary office, prepared this valuation.

MR. SHEPHERD:  You are here to give evidence about these reports; right?

MR. MONTEIRO:  Yes.

MR. SHEPHERD:  All right.  I wonder if you can turn, then, to page 56 of our materials.  And these questions, I am not sure whether these are for you, Mr. Monteiro, but whoever wants to answer them, feel free.

This is an answer to CCC Interrogatory No. 3, and you will see it says:
"EGD manages its pension plan over the long-term."

And I looked at that and I had a double take, because you don't actually manage your own pension plan, do you?

MR. KANCHARLA:  There is a governance structure in place at Enbridge Gas Distribution where its various companies exist at Enbridge Distribution that oversees the management of the pension plan.

MR. SHEPHERD:  At Enbridge Gas Distribution?

MR. KANCHARLA:  There is a pension administration committee at Enbridge Gas Distribution, and there are investment -- manage our investment plans and manage our pension benefits with our parent company, as well.

MR. SHEPHERD:  Okay.  So that doesn't -- I am going to ask you to turn to page 37 of our materials, because what you just said doesn't match up with your company's evidence.

This is in answer to a question from Board Staff, which is Exhibit I, tab 1, schedule 5.  You say EGD does not directly manage the plan.  The plan is managed by the pension administration group at Enbridge Inc.

So that's not EGD; right?

MR. KANCHARLA:  There are two committees which are there.  There is a pension committee at Enbridge Inc. where EGD has representation at the pension committee of Enbridge Inc., and there is also pension administration committee at EGD, as well.

MR. SHEPHERD:  And what does the pension administration committee at EGD do if the plan is managed by EI?

MR. KANCHARLA:  The mandate of the pension administration committee at Enbridge Gas is more of a day-to-day management of looking at the plan design, looking at the plan elements and also the plan performance, which would report into the pension committee at Enbridge Inc.

MR. SHEPHERD:  So one member of your EGD pension administration committee sits on the EI pension committee; right?

MR. KANCHARLA:  That's correct.

MR. SHEPHERD:  And so they don't report to you.  The managers of the plan do not report to EGD, do they?  They report to EI?

MR. KANCHARLA:  That's correct.

MR. SHEPHERD:  Okay.  But this plan is not a shared plan with EI, is it?  It's an EGD plan?

MR. KANCHARLA:  It is an EGD plan, but in the same page, Board Staff number 5, you would see in (c) response the two affiliates are part of the plan, as well, Enbridge Gas New Brunswick and Gazifère.

MR. SHEPHERD:  But EI is not?

MR. KANCHARLA:  EI is not.

MR. SHEPHERD:  The same committee that manages your plan manages the EI plan; right?

MR. KANCHARLA:  That's correct.

MR. SHEPHERD:  But they are different plans?

MR. KANCHARLA:  Yes.

MR. SHEPHERD:  And they have different investment criteria, too, don't they?  Your investment policy is in the evidence.  I just went and compared them.

MR. KANCHARLA:  In the statement of the investment policies, again, I am not in a position to speak of Enbridge Inc.'s pension plan criteria.  But the plans are managed together.

MR. SHEPHERD:  I can help you.  I don't have this in my materials, but if you want to turn to Exhibit I, tab 2, schedule 8, attachment B, this is your evidence; right?  This tells us the difference between the criteria for EI and EGD.  They are quite substantially different; right?

So, for example, EGD has more fixed income, 40 percent versus 30 percent, if you lock at page 3 of that exhibit; lower equities; lower real assets.  Right?

MR. KANCHARLA:  That's correct.

MR. SHEPHERD:  Okay.  And the reason I wanted to ask about that is I wondered if you could turn to page 36 of our materials, because -- I am looking at the performance of your plan.

So this is a plan -- by the way, EI is paid for doing this?  EGD pays EI to manage the plan; right?

MR. KANCHARLA:  Yes.

MR. SHEPHERD:  Do you know how much that is?

MR. KANCHARLA:  I don't have the answer right here.

MR. SHEPHERD:  I am going to ask you to undertake to advise how much EI has been paid under both the CAM and the RCAM methods for the period 2007 to 2011 to manage the pension plan, all costs.  And the reason I was struck by that is Board Staff asked you in Exhibit I, tab 1, schedule 4 to compare the performance of your pension plan to peers, and this is a standard process that you do when you are comparing plan performance; right?

MR. KANCHARLA:  That's correct.

MR. SHEPHERD:  So you gave us five years, and in those five years what I see is four of the five years, the performance was below the 50th percentile.  On one of those, it was below the 25th percentile, and only one of the years was it above the 50th percentile.

So I am going -- first, obviously you must be concerned about that?

MR. SOMMERVILLE:  We need to give the undertaking a number, Mr. Shepherd.

MS. SEBALJ:  I didn't hear that it was accepted.  I was just waiting.  Did you -- are you prepared to give the undertaking?

MR. CULBERT:  Yes.

MR. SHEPHERD:  Thank you.

MS. SEBALJ:  So it's J1.3.
UNDERTAKING NO. J1.3:  TO ADVISE HOW MUCH ENBRIDGE INC. HAS BEEN PAID UNDER BOTH THE CAM AND THE RCAM METHODS FOR THE PERIOD 2007 TO 2011 TO MANAGE THE PENSION PLAN.

MR. SHEPHERD:  Sorry, when I get on a roll, I just don't notice anything.

MR. SOMMERVILLE:  I didn't want to stop you, Mr. Shepherd, but I just had to.

MR. SHEPHERD:  So this obviously must be a concern to Enbridge Gas Distribution that your plan performs below the 50th percentile compared to peers; right?

MR. KANCHARLA:  It is a concern, and this benchmarking was done by Mercer, as well.

MR. MONTEIRO:  Yes.  In terms of comments on this particular table, I think the question asked for comparison of the EGD pension fund returns compared to companies of similar size.

I think in my view, this isn't really a group that you can compare it against, because every company, as you saw in the statement of investment policies and goals, has different asset mixes.  They have different investment goals.  They pick different managers, which might perform well in certain markets and perform badly in other markets.

So it really isn't a homogeneous group.  So, personally, I don't think this is the right kind of comparison.  You should be comparing the performance of your managers relative to their benchmarks.

Enbridge has a well-established governance practice of doing that.  They regularly review investment performance of their managers against their benchmarks, and they have a process for putting them on watch and terminating them if they don't perform.

So my understanding is that Enbridge -- the performance of Enbridge assets compared to their benchmarks, so the performance of the individual managers relative to their benchmarks, has been reasonable, has been good.  And where it hasn't, they have gone back and taken action to terminate those managers, so --


MR. SHEPHERD:  So your understanding is based on what?

MR. MONTEIRO:  Based on discussions with the people who manage the assets, the pension managers.

MR. SHEPHERD:  Enbridge?

MR. MONTEIRO:  Right.

MR. SHEPHERD:  You haven't looked at whether the plan performance is good at all?

MR. MONTEIRO:  I have looked at these returns, and I can understand -- if I compare them to what I would expect to see based on the asset mix, I can see that they are reasonable returns.  I mean, most pension funds, as you pointed out, the investment mix for the Enbridge gas distribution plan is 44 percent equities.  Many pension funds or the typical pension fund has a higher allocation to equities, so certainly in years where equities perform well, you would expect the typical pension fund to perform better than the Enbridge plan, because they have a higher allocation to equities.

MR. SHEPHERD:  I see.  So can you tell us what the benchmark is that Enbridge uses?

Enbridge must use a benchmark; can you tell us what it is?

MR. MONTEIRO:  To manage the individual managers?

MR. SHEPHERD:  No.  I am asking about overall plan performance.  The pensioners don't care whether individual managers are doing a good job; right?  So the company presumably doesn't care?  The company cares primarily about the overall performance; right?

MR. MONTEIRO:  Right, but the overall performance is the sum of the individual performance.

MR. SHEPHERD:  Oh.  See, I wouldn't have thought that.  When you build a portfolio, it's not the sum of the parts.  That's why you have a portfolio; right?

MR. MONTEIRO:  I mean, you invest across different asset classes, yes, but if you have 10 managers and you can't have all of them underperform the benchmark and still have overall returns above the benchmark.  It's based on your comparison of your returns for each individual manager.

MR. SHEPHERD:  Okay.  Is there an overall benchmark that is used by Enbridge to assess the overall plan performance?

MR. KANCHARLA:  As I alluded to earlier, Enbridge has a governance structure, and we do an external benchmarking, our firm.  And similar as this table has given, Enbridge looks at a longer horizon and compares with what the investment policy objectives are.

And the firm that Enbridge uses for its pension plans benchmarking, we use BNY Mellon to provide us with the benchmark over a longer period of time.  And it assesses regularly, I think as I said.  The governance structure ensures that all the plans, investment managers, there are regular reports, and performance management is done.

MR. SHEPHERD:  I understand all that, but I still don't know what the benchmark is.  I have data right here that says you performed poorly.  Do you have data that says no, that's not true, you performed well?  Not anecdotes, data?

MR. KANCHARLA:  This table, again, as Monteiro has alluded to, is just looking at the asset site of a pension plan.  And you are just comparing the asset sizes here.

To interpret this, we don't know the investment objectives of all the peers that are being compared here, and it's not necessary that with the higher return, that it would lead to a surplus position.  It depends on these, the liabilities side, as well, to comment on the performance of the assets.

MR. SHEPHERD:  Well, okay.  I will come back to that in a second, but let me just understand what you are saying here.  This is -- this period, 2006 to 2010, in this response includes some very good markets and some very bad markets.  In virtually every case, the market outperformed you; that is, other pension managers out performed you on average.  We calculate you ended up at about the 38 percentile.  Doesn't that concern you?

MR. KANCHARLA:  As I said, it concerns, but when you look at the pension plan, you need to look at the investment policy objectives.  Our target -- and probably I should refer to the investment policy document, as well.

On Exhibit 1, tab 2, schedule 8, attachment B, page 5, 5.0, it provides the expected investment return and risk of the DB investments.  And in 5.1 it states for the EGD plan, it is 6.8 percent per year.

That is what you compare your plan, your assets' performance, because comparing with peers, it is a useful metric, but I think you need to look at the investment policy objectives, as well.

MR. SHEPHERD:  Sorry, the 6.8 percent, you picked that out of the air?  You have a reason why you use that number; right?

Presumably it's a benchmark related to what your peers do; right?

MR. KANCHARLA:  It matches.  And again, it gives you the investment criteria in the same policy, as well.  It depends on your plan obligations, your membership information.

So it's not particular to here, but it depends on the pension plan obligations criteria, as well.

MR. SHEPHERD:  So I am going to ask you to do a calculation -- and I can tell you what the answer is, but I am going to ask you to do it anyway and confirm -- of what your pension plan assets would be as at the end of 2010, because you can't -- you don't know 2011 yet.  You don't have enough data for 2011.  For -- if starting in 2006, you performed, your plan performed at the 50 percent level.

And I tell you that I think the answer is that what you had was 735.6, and I think the correct answer is $787.3 million; that is $51.7 million more, just by being at the median.

So I am going to ask you to undertake to do that calculation.  I will show you the calculation I have done at the break, so that you can see where it came from. 

MR. SOMMERVILLE:  Mr. Cass?

MS. SEBALJ:  Okay.  You can provide that?

MR. KANCHARLA:  Yes.

MS. SEBALJ:  Okay.  It's J1.4.
UNDERTAKING NO. J1.4:  TO CALCULATE WHAT PENSION PLAN ASSETS WOULD BE AS AT THE END OF 2010 IF, STARTING IN 2006, THE PLAN PERFORMED AT THE 50 PERCENT LEVEL.

MR. SHEPHERD:  I guess I only have one sort of clean-up question, as it were, and that is:  Do I understand correctly that USGAAP, the change to USGAAP, has no impact on this?

MS. PATEL:  Yes, that's correct.

MR. SHEPHERD:  So you are actually going to have to go to an accrual method; is that right?  For pension accounting?

MS. PATEL:  In 2013, we are proposing to go to the accrual basis of accounting, yes.

MR. SHEPHERD:  But you have to do that for Canadian GAAP anyway; right?

MS. PATEL:  That is correct.

MR. SHEPHERD:  And you have been able to put it off because you are in IRM?

MS. PATEL:  Yes.  We are under the cash basis for 2012.

MR. SHEPHERD:  Because in 2007 when you started IRM, you were on the cash basis?

MS. PATEL:  That's correct.

MR. SHEPHERD:  But since 2008, you have actually had to go to accrual basis?

MS. PATEL:  Sorry, could you repeat your question?

MR. SHEPHERD:  Which one?

MS. PATEL:  The last one.

MR. SHEPHERD:  You are going to go to accrual basis for your pension provision each year; right?

MS. PATEL:  Yes.

MR. SHEPHERD:  And that's the same in USGAAP and Canadian GAAP?

MS. PATEL:  Yes.

MR. SHEPHERD:  And that's been true in Canada since 2008?

MS. PATEL:  Well, EGD was under the -- effectively under –- well, we were the accrual basis starting 2009.  However, because of certain interpretations of the CICA handbook, we were able to set up a regulatory asset which effectively makes us under the cash basis.

MR. SHEPHERD:  Okay.  But starting in 2013, you are not going to be able to do that anymore?

MR. CULBERT:  Actually, our analysis suggests that even under USGAAP, we may still be able to do that, for pension accounting.

MR. SHEPHERD:  But not for OPEBs?

MR. CULBERT:  Not for OPEBs.

MR. SHEPHERD:  Your sidebar made me think of another question.  Mr. Monteiro, when do you think the December 31st, 2011 valuation certificate will be complete?

MR. MONTEIRO:  It will probably be done within the next month or so.

MR. SHEPHERD:  Because the last thing you did took one month, so I would have assumed you are pretty close to finishing now.

MR. MONTEIRO:  We have to wait for the Canadian Institute of Actuaries to announce what interest rate we are supposed to be using for the annuity proxy.  That has happened very recently.

MR. SHEPHERD:  I thought that was already out, isn't it, last week?

MR. MONTEIRO:  Yes, last week.

MR. SHEPHERD:  That's the only thing left for you to complete the report?

MR. MONTEIRO:  The other thing is just confirming the asset values.  So we need to get asset values from the statements, and we actually have to do the calculation.

So, yes, I mean, it could be within -- it will be within the next month, essentially.

MR. SHEPHERD:  If I ask you to give an undertaking to provide that when it's complete, are we likely to get it within the next two or three weeks?

MR. CASS:  Mr. Chair, the uncertainty I have is Mr. Monteiro addressed when Mercers will have something complete.  I don't know what sort of review process or any other formalities would be required before it could be made public.  I simply don't know.

MR. SOMMERVILLE:  I am reluctant to order a categorical undertaking that would require the production of the document.  You may want to look for some qualification, Mr. Shepherd.  A document that doesn't exist is the problem at this stage.

MR. SHEPHERD:  The difficulty I have, Mr. Chairman, is the applicant is asking for a 2 percent rate increase for this particular reason - that is, for a pension amount - that they and their actuaries both say they don't know whether it's right.  And they are going to know whether it's right in the next few weeks.

And it seems to me unnecessary for us to spend hours in argument figuring out uncertainty and arguing for projected numbers versus real numbers when we can have the real number.

MR. SOMMERVILLE:  The Board will take this under advisement.  Thank you.


MR. SHEPHERD:  That's all our questions.  Thank you, Mr. Chair.


MR. SOMMERVILLE:  Thank you.  Who is next among the intervenors to cross-examine this panel?  Ms. Sebalj?

Cross-Examination by Ms. Sebalj

MS. SEBALJ:  I am happy to go.  I thought we had agreed to a different order, but I in fact have many questions that follow on from Mr. Shepherd, so that makes sense.

Good afternoon.  My name is Kristi Sebalj, and I am legal counsel for Board Staff.  To start, Board Staff IR No. 5, which is at -- and I will use -- to the extent that I can for my cross-examination, I will use Mr. Shepherd's Exhibit K1.1, and that's at page 37 of his exhibit.

And you sort of touched the surface of some questions that Board Staff had with respect to reviewing the management of the plan, and I think you have clarified that Enbridge Gas Distribution does not manage their plan directly, but has a seat on the pension committee at Enbridge Inc.; is that correct?

MR. KANCHARLA:  That's correct, yes.

MS. SEBALJ:  But you have also indicated that there is a separate committee at EGD, one that I don't think is referenced in this interrogatory response.  Can you tell me a bit about that committee and who -- what the committee looks like and how it -- does it report up to the committee at EI?

MR. KANCHARLA:  That's correct.  The pension administration committee at Enbridge Gas Distribution consists of the vice president finance, the vice president legal, a finance controller, a director human resources.  And their mandate is essentially look at the day-to-day management of the pension plans; that is, the plan design or the plan elements or what's happening in the regulation changes, as well.

This pension administration committee provides information to the pension committee at Enbridge Inc., as well.  And as I said, the manager investment for the pension investments and manager of pension and benefits also work in tandem with the pension investment committee in terms of providing regular reports, as well.

MS. SEBALJ:  And when you refer to the manager of pension and benefits, you are referring to BNY Mellon; is that what you are -- or is this somebody else?

MR. KANCHARLA:  There is an individual in Enbridge Inc.

MS. SEBALJ:  An individual in Enbridge Inc., okay.  But, ultimately, the management of the plan rests with the committee at Enbridge Inc.; is that correct?

MR. KANCHARLA:  That's correct.  There are various levels of governance.  So pension administration committee at EGD reports in to the pension committee.  There is representation from EGD, as well.  And the pension committee reports in to human resources compensation committee, which essentially consists of the board members of Enbridge Inc., as well.  So the governance goes up to the board members of Enbridge Inc.

MS. SEBALJ:  And so if we were to try to understand -- and I don't want to get too deep in the weeds here, but I am trying to get a sense of who is actually managing this plan.  What types of decisions can be taken by the committee at EGD, if any, or is it just a sort of reporting kind of function?

MR. KANCHARLA:  It's --


MS. SEBALJ:  Is there anything that can be done with the plan -- plans, I guess, both -- by EGD without first reporting up to EI?

MR. KANCHARLA:  I am referring to -- just in terms of governance, I will refer to the document here, Exhibit 1, tab 2, schedule 8, attachment B, page 1, 1.3.  Just to explain the governance here, as well --


MS. SEBALJ:  Can you just give me one second?  So you are effectively referring to a BOMA interrogatory?  Is that what you are referring to?

MR. KANCHARLA:  That's correct.

MS. SEBALJ:  And it's Interrogatory No. 8?

MR. KANCHARLA:  Yes.

MS. SEBALJ:  Thank you.  I have that.

MR. KANCHARLA:  1.3 it states there -- again, I am starting on the second line:

"The board of directors of Enbridge Gas Distribution have delegated to the human resources and compensation committee of the board the authority to review, approve or make recommendations to the board with respect to policies governing the investment of assets of the pension funds."

MS. SEBALJ:  So it is more of a reporting recommendation upward to Enbridge Inc.?

MR. KANCHARLA:  That's right.

MS. SEBALJ:  Okay, thank you.  There is one seat on the Enbridge Inc., and I think you told us previously who holds the seat, not the name of the person, but the position of the person on the EI committee?

MR. KANCHARLA:  Vice president finance of Enbridge Gas Distribution.

MS. SEBALJ:  And would it be -- is it accurate to say that the statement of investment policies and procedures that you are referring to now is what guides entirely the Enbridge Inc. committee?

MR. KANCHARLA:  Yes.  Both the committees, and I think the investment policy guidelines.

MS. SEBALJ:  I guess my question is:  Is there any other guidelines -- are there any other guidelines that exist that would guide how the committees are required to behave in managing the plan?

MR. KANCHARLA:  The statement of investment policies talks about the investment of the assets.  The companies would look at what's happening to the plans' position, as well, how -- the liabilities or any changes in the regulations that come about, the recent one in 2009, as well.

So there are various other issues, as well, the committees would review.

MS. SEBALJ:  Yes, I understand that there might be other issues that arise, but what I am asking is whether there are any other governing or guidance documents that the Board should be aware of that govern the behaviour of the pension committees, or is this it?

MR. KANCHARLA:  There are -- which, again, I don't have them.  There are terms of references for the roles and responsibility of various committees.

MS. SEBALJ:  And are those committees at EGD or at EI?

MR. KANCHARLA:  Both. 

MS. SEBALJ:  Could you provide those by way of undertaking, the ones, of course, that are relevant to pensions?  We don't want the whole committee structure.  I am sure it's elaborate.  But with respect to the pension committees at EGD and EI, to the extent that there are any terms of reference or other guidance documents, could you provide those by way of undertaking?

MR. KANCHARLA:  Yes, we can provide those.

MS. SEBALJ:  Thank you.  That's J1.5. 
UNDERTAKING NO. J1.5:  TO PROVIDE TERMS OF REFERENCE OR GUIDANCE DOCUMENTS FOR PENSION COMMITTEES AT EGD AND EI.

MS. SEBALJ:  And in that same Board Staff interrogatory that I started with, Interrogatory No. 5, there is a reference to -- you talk about the plan being managed by the pension administration group at Enbridge Inc., while the investments are managed by various investment managers, and we spoke about this earlier.

I think you indicated that BNY Mellon has a role to play there, but are you able to tell us who those investment plan managers are with respect to the EGD plans specifically?

MR. KANCHARLA:  I don't have the names of the individual investment managing companies.

MS. SEBALJ:  They are firms, I --


MR. KANCHARLA:  They are firms.


MS. SEBALJ:  -- take it?  And is there more than one?

MR. KANCHARLA:  Yes, there are more than one.

MS. SEBALJ:  Do you know how many there are?

MR. KANCHARLA:  Subject to check, I think there are seven investment managers.

MS. SEBALJ:  Thank you.  I think that's probably sufficient for our purpose.  And how are the investment managers chosen?

MR. KANCHARLA:  Again, with the experience of -- there is a manager investment -- the pension investments manager, I think he, with his experience, chooses the investment managers, based on industry experience.

MS. SEBALJ:  Sorry, so that's the chief financial officer that does that, or... sorry, I didn't hear the first part of your answer.  Who chooses?

MR. KANCHARLA:  It goes through the regular governance structure that we --


MS. SEBALJ:  So it's at EI?

MR. KANCHARLA:  The pension company eventually would recommend to the human resources committee in terms of who the investment managers for the plan need to be.

MS. SEBALJ:  Sorry, I am just checking to see if the answer is in front of me, but in the statement of investment policies and procedures, are there criteria for choosing the managers, and for - I was going to say "firing" but perhaps that's too harsh - for getting rid of investment managers?

MR. KANCHARLA:  In the terms of reference, definitely there are references to the performance management of the investment managers.

MS. SEBALJ:  And so that will be provided by way of undertaking?

MR. KANCHARLA:  Yes.

MS. SEBALJ:  Thank you.  And in terms of the statement of investment policies and procedure, which is the attachment provided to the BOMA Interrogatory No. 8, how often is this document revised?  I see this one is effective June 1, 2011; are there periodic reviews, or is it just on a case-by-case as required?

MR. KANCHARLA:  The reviews, all committees meet on a quarterly basis to review the investment policies performance, as well.

This document, previous to June 1st, 2011, was revised in 2007 in terms of the asset mix, but this is reviewed on a regular basis.

MS. SEBALJ:  Thank you.  So -- and again, back to Board Staff Interrogatory No. 4, which is page 36 of Exhibit K1.1, and Mr. Shepherd has taken you to these numbers at some length, but I wanted to ask Mr. Monteiro -- am I saying that properly?

MR. MONTEIRO:  Yes.

MS. SEBALJ:  Based on these numbers, whether your advice to a client or what your advice to a client would be, based on -- let's assume for a second that the comparison is valid -- and we have gone down that path -- but let's assume for a second that you accept the comparators and the cohort that this has been -- that EGD has been assembled with, but if you saw these numbers, what, if any, advice would you give to your client with respect to its investment strategy?

MR. MONTEIRO:  I will reiterate again that I don't believe that this is an appropriate comparison.

But assuming that this was done based on a comparison of the appropriate benchmarks, I think the first thing would be to investigate what the source of any underperformance is.  And if it's coming from any particular manager, that manager would be -- would be called and asked to explain the reasons for the underperformance.

If the company felt that the reason for the underperformance was something which was systemic or something wrong with the way they are managing assets, or that their outlook was not consistent with what the company was doing, they would undertake to get rid of that manager and hire a new manager.

But if they felt that that underperformance was a result of factors that were temporary -- for example, if they were under-weighting a particular sector and that sector performed really well and there is no indication that that would happen in the future -- then they might be quite satisfied to accept that things would not necessarily be bad going forward with that manager.

So it's really an investigation of the source. 

MS. SEBALJ:  And do you -- are you able to provide a better analysis, in Enbridge's view, and with the assistance of Mercer?

It's clear from what we have heard that you have not happy with the request that was made from Board Staff, but you complied with it nonetheless; is it possible for you to assemble a better group of comparators and provide us with an analysis with which you are satisfied, so that we can see a comparison?

MR. KANCHARLA:  As I said, BNY Mellon provides the benchmark performance, and we can take an undertaking to provide the performance of the plan over a longer period, as well.  Again, it's an independent performance management.

MS. SEBALJ:  Sorry, when -- so I just want to get an idea of what I -- the performance of the plan over a longer period, longer than since 2006; is that what you are referring to?

MR. KANCHARLA:  That's correct.

MS. SEBALJ:  And would this -- would this put EGD in with some kind of comparators, or is this just an EGD standalone?

MR. KANCHARLA:  It's not a standalone.  BNY Mellon provides a benchmark.  Again, it has a different group of comparators, but we will provide the information comparing the asset performance over a 10-year period. 

MS. SEBALJ:  Thank you. 

MR. SOMMERVILLE:  The Board is concerned that simple extension of time would not provide materially improved evidence.  The issue here seems to be the nature or character of the comparators, not the length of time, and so I am reluctant to order an undertaking that simply extends a comparison that may or may not be apt.

So I guess my question -- Mr. Cass, do you want to...

MR. CASS:  Yes, if I may, Mr. Chair.  Mr. Kancharla can correct me if I go wrong.

I think what Mr. Kancharla is saying is that there is benchmarking down by BNY Mellon.  It's not the same benchmarking as in Board Staff Interrogatory No. 4.

It would be different benchmarking.  I think that's what he's saying.

MR. KANCHARLA:  That is correct.

MR. SOMMERVILLE:  In which case, we would want to have those differences very clearly stated so that if there is questions arising from that new evidence, they can be dealt with.  So on that basis, the undertaking will be ordered.  Thank you.

MS. SEBALJ:  And I was going to clarify that.  The more information the better, if you can provide us with more information and detail with respect to who EGD is being benchmarked against, without specifics, of course, but in general so that we can get a better idea of what we are actually comparing.

MR. KANCHARLA:  Okay.

MR. SHEPHERD:  Mr. Chairman, sorry to jump in, but as I started this fuss I guess I have an opinion.

I am concerned that what we will end up with is two benchmarking comparisons, one of which has been subject to some cross-examination and one of which will not have been, and I am concerned that we may end up with a situation where we have to come back.  And so is I am raising that.

MR. SOMMERVILLE:  That has crossed my mind and I am sure it has crossed Mr. Cass's mind, too, that this document may well be rich enough that it may require some form of interrogatory process.  Whether that's live or through interrogatories is another question, and whether that arises at all is still a question, but that possibility certainly exists, as it exists with every undertaking.  Is that fair enough, Mr. Cass?

MR. CASS:  Yes, Mr. Chair.  I have not seen the particular document myself, so I know no more about it than anyone else.

MR. SOMMERVILLE:  Thank you.

MS. SEBALJ:  I guess the follow-on question would be how quickly you think you could provide that document?

MR. SOMMERVILLE:  It's 3:10 right now, Mr. Kancharla.

MR. CASS:  It should be available quickly, in a day or two.

MR. SOMMERVILLE:  That was in the nature of humour.

MS. SEBALJ:  I guess the only reason I am wondering is because, in theory, we could have time set aside if it was able to be provided during the day tomorrow or by end of day tomorrow even, something like that, to deal with it as efficiently as possible.  Interrogatories obviously would lengthen the process significantly.

MR. KANCHARLA:  We will aim to provide it tomorrow.

MS. SEBALJ:  If I haven't already, it should be J1.6.
UNDERTAKING NO. J1.6:  To provide the performance of the Plan benchmarked with asset performance over 10 years, identifying differences from BNY Mellon benchmarking

MS. SEBALJ:  Sorry, I am editing as I go along.  So it's clear from the evidence that while you are -- while EGD is requesting 16.6 million as the Z factor, that we won't have an updated forecast with respect to the projected shortfall until up to a month from now; is that correct?

MR. MONTEIRO:  Yes, but, I mean, I can tell you that the position of the plan as of the end of 2011 is likely worse than what is shown in here because, since August 31st, interest rates have actually dropped and pension fund returns were nothing to write home about over the four months either.

So the position, if anything, is the solvency position is probably as bad, if not worse, than it is in this document, which would necessitate the $16.6 million contribution.

MS. SEBALJ:  I suppose we will know for sure when we get the updated estimate.  I was going to ask you to provide me with some professional opinion with respect to whether it would be plus or minus, but I think you have indicated that.

Board Staff IR No. 5, and I don't think you need to turn it up, but part (c) of that IR indicates that -- and this has been referenced earlier, that the EGD RPP plan includes EGD and two affiliates, Gazifère and Enbridge Gas New Brunswick.

However, the contribution requested in the Z factor only pertains to Enbridge Gas, is that correct, Enbridge Gas Distribution Inc.?

MS. PATEL:  Yes, that's correct.

MS. SEBALJ:  And when I look at the Mercer report -- I am just seeing whether the whole report was provided.  Let me just turn it up quickly.

I guess I wanted to clarify how the Enbridge Gas Distribution Inc. portion of the overall -- of the overall shortfall was teased out and whether someone can take us through the EGD share of the funding piece in the Mercer report, and I believe it's in section 3 of the report.

Well, perhaps you can point me to it, because I have clearly lost my reference.  But I had thought that I had seen somewhere that it was indicated that you had a global number for all of the -- for Enbridge Gas Distribution Inc. and the two affiliates, but that then you were able to tease out the number for just Enbridge Gas Distribution Inc.  And I just wanted to quickly ask you how that was done.

MR. MONTEIRO:  So it's actually on page 12 of the documents, at page 6 of the Mercer report.

MS. SEBALJ:  Thank you.

MR. MONTEIRO:  The top table shows that the cost for the -- the total cost for the overall registered plan, the service cost, is the 17.1 million, of which 15.6 is for the DB portion of the plan and 1.5 is the DC.  So that's for the entire plan.

And then on the following page, the top table shows the service cost for EGD only, so it's the 14.7 is for the DB.  And so 14.7 out of the 15.6 relates to EGD, and 1.3 out of the 1.5 relates to EGD.  So that's $16 million for the registered plan.

MS. SEBALJ:  Thank you.  So my next set of questions relate to the timing of the request.  So appendix A of the report shows a $2.9 million funding excess; is that correct?  And that's the current.

MR. MONTEIRO:  That's correct, on a going concern basis.

MS. SEBALJ:  And then in BOMA Interrogatory No. 9, I believe it is -- yes, so the service -- it says in BOMA Interrogatory No. 9:
"The service cost has been calculated using membership data from the 2010 valuation.  Therefore, the funding requirements could change from the estimated $16.6 million when the cost certificate is prepared using current membership data.  However, it will not change due to the size of the deficit."

And so essentially we have a Z factor request before the amount is known.  I am asking Enbridge to comment on that.  Is it appropriate for a Z factor request when we do not know the exact amount of the Z factor?

MR. CULBERT:  Well, we did -- inclusive in the request, we did request a variance account around the recovery of any amounts, such that we would true it up to whatever the actual service cost would be.

MS. SEBALJ:  And remind me whether there is a rate impact for 2012.

MR. CULBERT:  For 2012, yes, we have requested recovery of 16.6 which, as was discussed with Mr. Shepherd earlier, does impact what the rates are, certainly.

MS. SEBALJ:  And so it is not possible for Enbridge, then, to wait until the cost of service, which will be filed momentarily?

MR. CULBERT:  Well, as with the majority of items that we look to, you would like to get as much as you could into rates so you don't have retroactive implications, per se, but it's not an imperative that we do that.  But we did request a variance account around it such that we would only collect what is required for service cost.

MS. SEBALJ:  Thank you.

MR. CULBERT:  As Mr. Monteiro points out, we don't believe the amount is going to be below that, given the circumstances, so...

MS. SEBALJ:  Do you have an estimate, Mr. Monteiro, as to how large the difference could be between the last valuation and the next report?

MR. MONTEIRO:  I haven't done a detailed calculation.  I do know that interest rates dropped by 0.4 percent for those four months, so that would significantly increase liabilities.  And I would guess that, based on the asset mix, that asset performance is only one or two percent compared to the 16 percent that was identified as being necessary to get rid of the deficit.

So with those two factors, my best guess is that the deficit is significantly larger than the estimate that's in this report.

MS. SEBALJ:  And you are not willing to put any numbers around "significantly" in terms of percent?  Are we talking double?  Are we talking -- no idea?

MR. MONTEIRO:  I give you a rough number based on a mental calculation, if that's useful to you.

MS. SEBALJ:  Yes, that would be useful.

MR. MONTEIRO:  I would think it would be in the about $130 million range.  The $77 million deficit would be about $130 million.

MS. SEBALJ:  Thank you.

MR. KANCHARLA:  Just to add to that, the Z factor request is for the service cost only; right?  So even if it's like a binary system.  If the deficit exists, then you need to contribute the service cost, so even if the deficit portion could be 100-plus million dollars, the service cost will be 16.6 million and the only variance would be from a membership point of view.

So I think our guess is that if a deficit exists, the deviation from 16.6 million won't be significant.

MS. SEBALJ:  For the Z factor purpose, but ultimately recovery of the actual deficit will have to happen over time?

MR. KANCHARLA:  That's correct.  And that will be considered when we do our tri-annual valuation at the end of 2012.

MS. SEBALJ:  Moving to Board Staff Interrogatory No. 7, which is the interrogatory where we asked about who -- essentially what the responsibility is -- responsibilities are of the various parties in respect of funding the service costs.

And just to be clear -- and I think this is in your evidence, but to be clear for the record -- what happens -- my understanding of what happens when there is a surplus in years where there is a surplus is that essentially this --ratepayers benefit because there are no costs incurred as a result of a deficit.  But can you tell us what happens when there is a surplus year?

MR. KANCHARLA:  As we've seen historically, as well, the EGD plan has been in surplus for many years.  So what happens on the surplus is the amounts remain in the plan, but there are annual service costs, and the annual benefits are paid out from the assets, as well.

So indirectly the ratepayers are not incurring the costs.

MS. SEBALJ:  So to the extent that the surplus exceeds the service costs, what happens with the surplus?  It still sits in the plan?

MR. KANCHARLA:  Yes.  Whatever the amount of the surplus is, it's still in the plan.

MS. SEBALJ:  And I assume amounts that exceed are re-invested in the plan; is that correct?

MR. KANCHARLA:  That's correct. 

MS. SEBALJ:  In Board Staff IR No. 7, there is a reference to -- in (a).  And the question was:

"Please comment on whether it is typical practice in the Canadian pension plan industry that when a plan is in a deficit position, its members' contributions are adjusted to account for the shortfall."

And the response, in part, was:

"Whether a plan requires member contributions is up to the plan sponsor, and in 2001 EGD chose not to have its members make contributions."

And later in that response, it says:
"The funding requirement EGD is facing is in accordance with actuarial standards/rules and legislative requirements from the Financial Services Commission of Ontario."

I am wondering if you can give a better description of what those requirements are and how EGD came to the determination not to have its members make contributions.

MS. TROZZI:  So we made a decision not to have member contribution, and the reason we did that is because we look at our -- the pension plan is part of a total compensation package that we offer to employees.  We positioned ourselves at 50th percentile in the market in which we operate in, and that's in order that we can attract the talent that we need to operate the company as efficiently as we can.

Now, if we were to ask for member contribution, that would change our position in the marketplace.  So in order to keep the 50th percentile, we would then have to reallocate those funds elsewhere within the total compensation package, so it would be cost-neutral.

MS. SEBALJ:  Am I to understand -- I may have confused this response to this IR.  It's then the case that it's a choice of EGD not to have its plan members, and that there is no actuarial standard or legislative requirement that dictates that EGD should not ask its members to make contributions; is that correct?

MS. TROZZI:  As far as I know, that's correct. 

MS. SEBALJ:  Okay.  Thank you.  Those are all Board Staff's questions.

MR. SOMMERVILLE:  Thank you, Ms. Sebalj.

The Board will take 10 minutes.  I guess realistically we will come back at 20 minutes to 4:00.  Thank you. 

--- Recess taken at 3:26 p.m.

--- On resuming at 3:44 p.m.
DECISION


MR. SOMMERVILLE:  Prior to the break, the Board took under advisement the request for an undertaking from Mr. Shepherd with respect to the new report, certificate, from Mercer respecting the most up-to-date assessment of whether the plan is in deficit or not.  And Mr. Shepherd's request was that the Board order production of that report, and the Board will order production of that report, with this surrounding, and that's that the Board is not going to wait for that report to make its decision.

The report will come in to be distributed to the parties.  The parties would be free at that point to do with that report as they choose, with a view to the materiality question involved; that is, does it make a material change to what has occurred?

So basically the Board is requiring that the new report be distributed to the parties in this case.  The Board will not wait for that report before it makes its decision.

The parties, when they receive the report, can use the report in whichever way they choose to, whether it's Enbridge or the intervenors, with a view to the materiality arising at that point.

So that's the nature of our ruling with respect to your request, Mr. Shepherd.

MR. SHEPHERD:  Thank you, Mr. Chairman.  May I ask a question of clarification?

MR. SOMMERVILLE:  Sure.

MR. SHEPHERD:  If the report comes in before the Board's decision, do I understand your ruling to be that if it appears to be material, we can then ask for further procedural orders at that time?

MR. SOMMERVILLE:  I think that's right.  I think that the parties can take a look at it and see.  If it happens to be something that is revolutionary within the proceeding, obviously we want to know about it.  If it is not, then we would expect parties to -- discretion being the better part of valour, to carry on.  

Who is next?  Mr. Brett?
Cross-Examination by Mr. Brett

MR. BRETT:  Thank you, Mr. Chair and Panel.

Good afternoon, ladies and gentlemen.  I have a few questions.  I had a lot more, but they have been asked and answered.  So, Mr. Kancharla, I wanted to ask you -- I think it's you, or perhaps Mr. Monteiro.  

Once you -- once the company is in a deficit position, either with respect to going concern or solvency at the end of a given year, as you anticipate that Enbridge will be at the end of 2011, you make this -- you are required to go back to making a contribution, and the contribution is the 16.6 million, give or take, that we talked about.

Now, that 16.6 million, is that the level of the contribution that was made at the last time -- the major triennial study was done?  In other words, is that the same amount that was made back in 2009, or where does that number come from other than that?

MR. MONTEIRO:  So our December 31st, 2009 valuation report, so that's the full valuation report, would have identified what the service cost is for each of the next three years.  And so that's essentially what, based on that report, the cost of the benefits accruing in 2012 would be.

MR. BRETT:  Thank you.  Now, the next question is I want you to go back to -- I think we will use Mr. Shepherd's sheets, since they are quite convenient, or at least they are convenient for some of us, anyway.

If you go back to page -- let me get the right sheet here.  Yes, page 23 of Mr. Shepherd's.  It's a big number 23 in the bottom right-hand side there.  Do you have that?

MR. MONTEIRO:  I do.

MR. BRETT:  Okay.  Now, I think this is for you, Mr. Monteiro, but anybody else, of course, can chip in, as I know you will.  I want to look at the middle of the page, and this page deals with the development of the discount rate for the going concern exercise; is that right?

MR. MONTEIRO:  That's correct.

MR. BRETT:  And the investment return, the first line there, I am looking at the numbers.  The first line, "assumed investment return", did I hear you correctly that that's a number that the company gives you, in effect?

MR. MONTEIRO:  No, that's not correct.  The 0.59, the margin --


MR. BRETT:  Sorry, I am looking at the 6.73.

MR. MONTEIRO:  Yes.  The 6.73 is an estimate of the expected future returns of the pension fund.  I believe in this situation it's because it's the actuary who is responsible for making -- for deciding on the assumptions, it will be the actuary who comes up with that estimate based on the asset mix of the pension fund.

MR. BRETT:  Okay, all right.  So that's the actuary that makes that, and then what you were about to say - and I am sorry I intercepted you - the 0.59, which is the add-on to the -- sorry, the subtraction from the 6.73 for adverse deviation, that number I think you told us is a number that the company chooses?

MR. MONTEIRO:  That is correct.

MR. BRETT:  And that was not always the case, but it has been in the last two or three years?

MR. MONTEIRO:  There was a change in the actuarial standards at the end of 2010.  Prior to that, the actuary was responsible for that number.

MR. BRETT:  Prior to 2010?

MR. MONTEIRO:  Valuations performed prior to December 31st, 2010.

MR. BRETT:  Okay.  And so this -- now, do we know what that number was in -- this is a 2011 number.  So in 2010, do you know what that number was?  What was the number the actuary chose in 2010?

MR. MONTEIRO:  My understanding is that it's based on the same algorithm.  So I don't have the exact number, but I assume it would be very similar to that number.

MR. BRETT:  Is it possible to give us an undertaking, Mr. Chair, to get that number for 2010?

MR. SOMMERVILLE:  Mr. Monteiro, is that a difficult thing to do?

MR. MONTEIRO:  No, it isn't.

MR. SOMMERVILLE:  Thank you.

MS. SEBALJ:  J1.7.
UNDERTAKING NO. J1.7:  TO PROVIDE THE RETURN OF THE PENSION FUND FOR 2010.

MR. BRETT:  Now, if I look at the additional returns for active management, the 0.11 percent, that number is chosen by the company?

MR. MONTEIRO:  That's usually a number that's chosen in consultation between the actuary and the company.

MR. BRETT:  Okay.  And then the investment management and administrative expense provision of 0.50, that I take it is an actual number that you take from the company's records?

MR. MONTEIRO:  That's right.  You would typically be looking at what level of expenses go through the pension fund and using that as your assumption going forward.

MR. BRETT:  Just as an aside, am I right in thinking that, in this particular instance, the incremental return from using active management is only about 20 percent of the cost of hiring that management?

MR. MONTEIRO:  Well, the 0.5 percent includes not only investment management expenses.  It also includes administrative expenses.

MR. BRETT:  All right.  Do you know what the breakdown is between those two?  In other words, from your experience, is it possible for you to opine on what the investment management portion of that might be?  Would it be half, or 66 percent or something like that?

MR. MONTEIRO:  It would probably be a little bit more than half of that amount.

MR. BRETT:  Now, you also mentioned, and I want to -- I didn't quite get the whole answer, but when you were talking to Mr. Shepherd, when you were talking about choosing a discount rate and I think in a different context, you said that before 2011 actuarial principles set that rate, but after 2011 the actuarial principle was changed to allow the company to set that rate.  Do you recall what that was?

MR. MONTEIRO:  That is related to choice of 0.59 percent, the margin for adverse --


MR. BRETT:  That's the same issue, essentially.  Okay.

MR. MONTEIRO:  I was going to say the actuary is responsible for everything other than that 0.59 percent in setting this assumption, and then ultimately it's the company's decision what level of margin they would like to include in the valuation.

MR. BRETT:  Right.  And you said the returns for active management was a joint sort of actuary/company call?

MR. MONTEIRO:  Right.

MR. BRETT:  Now, are there any other areas where there is a -- in assessing -- in making these assessments about either return -- we have talked about return of the portfolio.  That's what we have been dealing with.

Oh, I am sorry, we have been dealing with the discount rate, and it's made up, in part, of the investment return, all right.  But is there any other area -- are there any other areas in the calculation of these deficits or surpluses, either on a going concern basis or otherwise, where there is discretion, where the company has discretion or the company assigns or advises the actuary on what starting point they should use or what approach they should use?  Or is it always a question of pure discretion of the actuary?

MR. MONTEIRO:  The going concern valuation is the actuary ultimately bears responsibility for all the assumptions.  In practice, there's a discussion with the company, but the actuary is ultimately responsible for all the going concern assumptions, with the exception of that margin for adverse deviations.

In a solvency valuation, the assumptions themselves are prescribed, so there is no discretion whatsoever.

MR. BRETT:  They are prescribed -- sorry, just -- and the reason for that is because the discount is driven off the bond rate?

MR. MONTEIRO:  That's right.  But there is company discretion in deciding whether or not to exclude certain benefits from your solvency valuation, and Enbridge has exercised that.

MR. BRETT:  Right, right.  And that, you were -- and those are -- in other words, the company has a certain amount of leeway to exclude certain obligations, future obligations, from the solvency calculations.  So if you chose to exercise some of those it would, what, it would lessen the -- what would it do?  It would lessen the discount rate; is that right?

MR. MONTEIRO:  No.  It wouldn't affect the discount rate; it would just reduce the liabilities.

MR. BRETT:  It would reduce the liabilities in each of the future years?  Because it would take out certain items from them?

MR. MONTEIRO:  That's right.  So that's the difference between the solvency and wind-up valuations that we were talking about earlier.

MR. BRETT:  All right.  Is that -- and you are saying Enbridge has taken advantage of certain of those -- has taken advantage of that, has utilized that power to some extent?

MR. MONTEIRO:  That's correct.

MR. BRETT:  Okay.  Now, do we -- I know this has been discussed, but do we have a value -- this is really to Enbridge, I think, but it might be to either of you.

Do have a value of what the assets and the plan are at the end of 2011?  We are now at January the 25th or something.  Do we know -- I know we haven't done the full study of using the actuarial assumptions, but do we know what the value of the plan is as of December 31st, 2011?  And if we do, what is it?

MR. MONTEIRO:  I don't have an exact number, but I expect that it's quite similar to the number that's shown in the projection.

MR. BRETT:  So in this table here in your evidence -- that's tab 2, schedule 5, appendix A -- you show assets of -- and for purposes of the assets, the solvency and the going concern is pretty much the same, as I understand it; right?

MR. MONTEIRO:  Right.

MR. BRETT:  And you show 712 on the going concern and 711 -- within a million of each other.  Would it be possible for you to give an undertaking to provide that number?

MR. MONTEIRO:  Sure. 

MR. BRETT:  All right. 

MR. SOMMERVILLE:  Which number?

MR. BRETT:  I am looking at the actual number of the asset plan.

MR. SOMMERVILLE:  At the end of 2011?

MR. BRETT:  Yes.

MR. SOMMERVILLE:  That may be -- Mr. Monteiro, was that tied up with the creation of the report that we were talking about earlier?

MR. MONTEIRO:  Yes.  It's basically the asset value that would be shown in that report.

MR. SOMMERVILLE:  Would you have that figure now?  Would you have that before the report is kind of completed?

MR. MONTEIRO:  Yes, we would.

MR. SOMMERVILLE:  Any difficulties with that?  We will give that a number, please.

MS. SEBALJ:  It's J1.8.
UNDERTAKING NO. J1.8:  TO PROVIDE NUMBER OF ASSET PLAN.

MR. SOMMERVILLE:  Thank you.

MR. BRETT:  Thank you very much.

Now, I am going to move ahead to some questions -- yes, I don't want to get into the detail of the performance of the fund.  You really talked about that a lot, and you are going to get an undertaking from MNY (sic) Mellon -- I don't know whether have that name right.

But I am interested in -- there was a statement made in the evidence-in-chief that you filed, the recent evidence you filed.  And it had -- I am going to paraphrase it, but I guess I should turn it up.


Yes, it's -- what I am looking at is on page 1, just as a matter of a fair reference for you.  It's the third question on page 1 of your examination-in-chief on the Z factor for pensions.  And you say -- you know, how did the plan -- how did the surplus become a deficit so quickly, I guess, is what the question is.

And you said:  Well, there are three factors.  And I don't quarrel with those factors, I think, but I did want to highlight one aspect.  And I think for that, you need to look at back to the -- back to your evidence, your prefiled evidence, tab 2, schedule 5, the appendix A that I just referred to when we were looking at the year-end values of the plan.

And if you look at that -- if you look at that schedule, you see on the asset side -- I am looking at the going concern here particularly, but I will look at both, in fairness.  On the asset side, what happens here is you have -- you're going along pretty well until 2008, and then you have a -- you move from a surplus position of -- I am looking at -- I am sorry – "funding excess," the third line in each case, and the deficiency.  You have a surplus in 2007 of 186 million, and then you shift to a deficiency in 2008 of two million.  That's a swing of about 189 -- $187 million.  That's off a base of 802 million, which is what you had in assets in 2007, the end of 2007.

And then you sort of clawed your way back to some extent from 2008 to 2011, but you really only got back about 40 percent of the way so far.  Is that fair?  I mean, very rough?

MR. KANCHARLA:  Yes.  Just to explain why the deficit portion on the assets plan, the company's plan was in a surplus position for a long time, and it goes to the first factor; contributions were not required.  We were in a cash basis.  So even though the equity markets and all the financial markets have declined, because of the surplus position that we were in the plan did not require the contributions.  And because of the cash basis, the asset plan over time, you are making the pension benefits out of the assets, as well.  So it is declining for that reason, as well.

MR. BRETT:  No, I agree there is more than one reason.

And then you also mentioned the increase in liabilities in the solvency case.

Now, I am just going to -- as I said earlier, I am going to chop as I go along here, which I am sure everyone will appreciate.

You mention at page 6 of the Mercer report -- that's in your prefiled evidence at page 6 -- actually I think -- no, I don't see that reference, but at some point you talk about a change in the transfer ratios.  What is the full phrase there?  It's the liquidity liability and transfer ratio that you talk about having declined 10 percent?

MR. MONTEIRO:  The transfer ratio, yes.

MR. BRETT:  What does that mean in sort of layman's language?

MR. MONTEIRO:  Transfer ratio is basically the ratio of assets to wind-up liabilities.

MR. BRETT:  Okay.  All right.  I have got you.

Now, you have talked a bit about the distinction between solvency and going concern with Mr. Shepherd, and I don't -- I think we have a pretty clear idea of what that means. 

And I guess the reason for the large difference in liabilities between the going concern and the -- I think I am reiterating, but the significant difference in liabilities, and I am looking here at the -- again, back at appendix A to your prefiled evidence.

You have got, for example, under going concern liabilities of 709 million at the end of 2011, and under a solvency 789 million, and the difference there is in the discount rate that's being applied to those liabilities?

MR. MONTEIRO:  Yes.  That's the biggest factor, yes.

MR. BRETT:  The liabilities are essentially the same liabilities, but they are being discounted in one case at a rate that must, in some fashion, approximate the projected rate of return on the assets, while in the solvency case it's driven off falling bond rates, essentially?

MR. MONTEIRO:  Well, in a solvency valuation, we are basically assuming everything gets settled immediately.  So, yes, you are still paying the same pensions, but you are estimating the cost of buying an annuity; whereas in a going concern valuation, you are saying, if I invest my assets in accordance with my investment policy, how much do I need to set aside so that I will be able to pay those benefits as they come due?

MR. BRETT:  In effect, you are saying, then, the cost of buying an annuity is much more expensive in a low interest rate environment?

MR. MONTEIRO:  That's right.

MR. BRETT:  Okay.  And then going back to the question of performance for a moment, and I don't want to -- as I say, I don't want to get into this.  I know you are going to file the -- and it's a great idea that you are going to file this document from the BNY Mellon.

Just for clarification, does Mellon -- Mellon is a professional plan evaluator.  Does he evaluate the performance of the overall plans or the performance of the individual analysts that are running the different parts of the portfolio of the plan, or both?

MR. KANCHARLA:  Because the plan is -- I am not in a position to answer in detail, but in our response, when we are providing the BNY Mellon, we will provide that.

MR. BRETT:  All right.  That would be helpful, because we have had some discussion around that, and I won't belabour it here, because it is sort of a subject of its own and it is a little complicated.

Now, you have talked about the need for a special payment or an additional payment if you were to do a full evaluation, if I can put it that way, akin to the triennial evaluation at the end of December, and you have talked about that with Mr. Shepherd.

We have talked about the cost certificate.  Do you have any notion -- I guess you are not at the stage yet where you have done any assessment of what the likely status of the plan would be at the end of 2012; is that right?

MR. MONTEIRO:  No, we haven't done one.  I mean, obviously it will depend on what happens with interest rates at the end of the year and what asset returns are for 2012.  


Those will be the two key drivers.

MR. BRETT:  Right, right.  I think those are my questions, Mr. Chair.

MR. SOMMERVILLE:  Thank you, Mr. Brett.  Who is next?  Mr. Thompson, we have a 12-minute window.
Cross-Examination by Mr. Thompson

MR. THOMPSON:  Okay.  Well, my questions, panel, are primarily clarification, I believe.  Just in terms of the request for relief, you are seeking a pension Z factor in the amount of $16.6 million, and variance account protection; is that correct?

MR. CULBERT:  A variance account to deal with the true-up of whatever the actual amount of service cost is, yes.

MR. THOMPSON:  Am I correct that the variance account depends upon achieving Z factor eligibility; in other words, no Z factor, no variance account?

MR. CULBERT:  I would agree with that.

MR. THOMPSON:  Now, in terms of the amount of $16.6 million, we appreciate that this is a work in progress, but there was some discussion with respect to the Mercer report where the total numbers in the report came up to $16.0 million, as I heard the evidence.  I think it's on page 13 of Mr. Shepherd's brief.

Is the number 16.0 or 16.6?

MS. PATEL:  It would be 16.6.  So it's the 16.0 that Manuel would have referred to before.  And on the next page on the Mercer report, so page 8 of the Mercer report, there is a separate plan, the SCRP plan.  It's a supplementary plan, and there is 0.6 funding that we are asking for for that plan.

MR. THOMPSON:  Thank you for that.  Now, we have heard evidence that a regulation was passed, and this regulation calls for a point-in-time certificate to be filed, as I understand it, on a calendar year basis.  Do I understand that correctly?

MR. MONTEIRO:  That's correct.

MR. THOMPSON:  And so that the certificate for December 31, 2011 needs to be filed by, I believe the evidence indicates, March 31, 2012; is that correct?

MR. MONTEIRO:  That's correct.

MR. THOMPSON:  And it's this certificate that is triggering the obligation to pay the estimated $16.6 million?

MR. MONTEIRO:  Yes.  The way it works is if you are unable to file a cost certificate that demonstrates a surplus, you have to make the current service contribution.  So in all likelihood, Enbridge will be unable to file a cost certificate, and therefore will be required to make the contribution.

MR. THOMPSON:  And just to clarify on the surplus situation, what happens if the certificate discloses a surplus?  Are there any financial statement reporting features to that, any income features, or does the surplus just fall into the plan as was described previously?

MR. MONTEIRO:  I mean, this is just a funding issue, so it purely would stay in the plan.  It would be surplus in the plan.

MR. THOMPSON:  So there is no call to give it back, in other words, if there is a surplus.  If you are short, you have to put up, but if it's surplus, you don't have to give back?

MR. MONTEIRO:  I mean, essentially the surplus can be used to fund contribution holidays, as Enbridge has done in the past.

MR. THOMPSON:  Thank you.  Now, in terms of the -- so I understand this correctly, the annual service cost, which is the $16.6 million, stems from a report that was done back in 2009.  Did I understand that correctly?

MR. MONTEIRO:  That's correct, yes.

MR. THOMPSON:  All right.  But what drives the obligation to pay that in 2012 is the deficit.  This is the 77 million or the 130, or whatever it turns out to be?

MR. MONTEIRO:  That's correct.

MR. THOMPSON:  And the deficit, as I understand it from your evidence, is primarily caused by the decline in interest rates? Interest rates, in turn -- the decline in interest rates, in turn, reduce the discount factor and that's what gives rise to the deficit?

MR. MONTEIRO:  Correct.

MR. THOMPSON:  And so I suggest it's the decline in interest rates that's prompting this Z factor claim.  Would you agree?

MR. KANCHARLA:  That's one of the factors.  And, again, as I explained in examination-in-chief, the three factors are contributions were not required for the plan for the long time because of the surplus position, but there were annual service costs and pension benefits paid out of the assets.  And the second, we discussed about the assets' performance, and the third factor, what you just described is the liabilities increase due to the lower discount rates.

MR. THOMPSON:  All right.  And so a primary component of the Z factor claim is the decline in interest rates?

MR. KANCHARLA:  That's correct.

MR. THOMPSON:  Okay.  And would you agree with me that decline in interest rates doesn't only affect pension in terms of Enbridge's costs of providing service?

MR. CULBERT:  Yes, we would agree with that.  It affects cost of capital throughout the company's requirements for cash.

MR. THOMPSON:  So with that, if you could just join me in turning up –- it's a CCC interrogatory, Exhibit I, tab 3; I believe it is schedule 4.  And I am on page 2.

MR. CULBERT:  Yes?

MR. THOMPSON:  And what this is showing, if I read this correctly, is embedded in rates are interest costs of $166.4 million?  You will see that line 5, column 3?

MR. CULBERT:  That's correct.

MR. THOMPSON:  Right.  And if we look at 2010 actual, the actual costs are $155.8 million; correct?

MR. CULBERT:  Correct.

MR. THOMPSON:  That's about a $10.6 million reduction?

MR. CULBERT:  That's right.

MR. THOMPSON:  Do you have or could you undertake to provide the actual interest costs for 2011 and the estimated interest costs for 2012, so we could see what the spread is in those two years?

MR. CULBERT:  Yes, certainly.  We could provide an estimate.

MR. THOMPSON:  Could I have a number for that, please?

MS. SEBALJ:  It's J1.9.
UNDERTAKING NO. J1.9:  TO PROVIDE ACTUAL INTEREST COSTS FOR 2011 AND THE ESTIMATED INTEREST COSTS FOR 2012.

MR. THOMPSON:  Let's assume for the sake of argument it's 10.6 million, or slightly greater.  Let's say $11 million in each of those years.  My question is this:  If the decline in interest rates gives rise to a Z factor claim on the pension side, surely it should be offset by the savings on the cost of capital side?

MR. CULBERT:  Well, the company's understanding of the manner in which rates are set during its IR term, and as specified in the agreement as approved by the Board, for rate-setting purposes there was to be no change in costs of capital for rate-setting purposes.

So the company's view is, by association, there is also -- as that agreement is based on that, there is no requirement for a Z factor for those elements of cost of capital either, cost of capital including return on equity, and these costs were part of the structure of the rate-setting model, and the Z factor would follow suit.

MR. THOMPSON:  Right, but on rate-setting there were no pension costs for the IRM term.  That was the paradigm on which rates were set. 

I guess my question is:  On fairness grounds, why should you get the benefit of declining interest rates on the pension cost side, and ratepayers don't get it on the cost of debt side?

MR. CULBERT:  Well, as I said, in terms of rate-setting we are not changing any cost of capital when we set rates during the term.  So to the extent that there's a benefit that flows through to the bottom line, that is taken care of in the earnings-sharing mechanism that is part of the overall package.

So all costs of capital were considered when determining what was to change in rates, and we think Z factors follows that.  To turn around and suggest a Z factor change for ROE or other elements of cost of capital would be contrary to the rate-setting mechanism.

MR. THOMPSON:  I am suggesting it on cost of debt. In any event, I will move on.

There is another feature, though, of the Z factor claim, and Ms. Sebalj touched on this, and this relates to the opportunity that the company has to ask its members for contributions.

And it has been explained:  We didn't do that, because that would mess up our position at the 50th percentile in labour relations, or words to that effect.

Now, would you agree with me that the exhibit -- I think it's Exhibit I, tab I, schedule 5 -- shows that there are 3,511 members in the plan?

MR. CULBERT:  Yes.

MR. THOMPSON:  You'll take that, subject to check?

MR. CULBERT:  Sure.

MR. THOMPSON:  Is Enbridge aware of any entities that have -- regulated or unregulated that have called on their members to donate?  Like those of us in the private sector have to do, so they can require before they reach the age of 85.

MS. TROZZI:  It may very well be the case, but I don't have that information with us today.

MR. THOMPSON:  Is that reported somewhere in industry publications?  Who calls for contributions, how much, that kind of statistics?  In other words, what is the benchmark for that action?

MS. TROZZI:  Sorry, I don't have that information.

MR. THOMPSON:  I appreciate you don't have it, but I'm asking is it out there.

MS. TROZZI:  I don't know.

MR. THOMPSON:  Does anybody know?

MR. MONTEIRO:  I am not aware of any publication that describes in detail what different plan sponsors do.  I mean, there may be anecdotal information, but there is no publication that I am aware of.

MR. THOMPSON:  All right.  Well, anecdotally, are companies –- and you mentioned there are many companies finding themselves in this position.  Anecdotally, are they now requesting contributions from their members to alleviate their difficulties?

MR. MONTEIRO:  I certainly don't see that.  I have seen it on individual cases, but it's certainly not some widespread trend that all private sector employers are asking their members for contributions.

MR. THOMPSON:  I see, Mr. Chairman, it is 20 after 4:00.  I don't have much left, but we probably should...

MR. SOMMERVILLE:  You can continue, if you like, Mr. Thompson.  Is there anybody else who wants to cross-examination on this subject matter?

Mr. Buonaguro...

MR. BUONAGURO:  I have about five to 10 minutes.

MR. SOMMERVILLE:  Why don't we continue to the conclusion of this subject matter?

MR. THOMPSON:  Okay.  Now, had contributions been requested of the members, am I correct that those contributions would go to reduce the current service cost?  In other words, they would go against the 16.6 million, not some other number?

MR. MONTEIRO:  If there was no other change to the pension plan or to the compensation of members, then that's correct.

MR. THOMPSON:  All right.  Thank you.

MR. KANCHARLA:  Just to add to that, I think as Ms. Trozzi has answered, that taking an employee contribution would impact the 50th percentile compensation benchmarking.  And if you look at how the Z -- this issue was triggered, it is triggered by the regulation change.

So anything that -- it will be a zero-sum game, even if you have changed the compensation to seek contributions, Enbridge would come with the Z factor again, because if it is outside the management's hand, the regulation is what is triggering this change.

MR. THOMPSON:  Well, I disagree.  I think what is triggering the cost is the decline in interest rates.  We have been through that already.  It's not the regulation that drives the cost.  It's the decline in interest rates that drives the cost; correct?

MR. CASS:  Mr. Thompson, we can address your argument in final argument.  It's not the case that if the certificate requirement had not been established that there would be an issue now.

I think I got too many negatives in there.

If the certificate obligation had not been established, there would not be a difficulty now. 

MR. THOMPSON:  Well, if the interest rates had not declined, there would not be a difficulty now. 

MR. CULBERT:  If the change in the economy hadn't occurred that has occurred, that would be one of the factors that would continue to allow us to be in a surplus, potentially.

MR. THOMPSON:  All right.  Now, just turning to the 2013 rebasing case, my understanding is that there will be a certificate filed on –- well, a certificate done as of December 31, 2012, and they have impact on the current service cost for 2013; have I got that straight?

In other words, if we just move the clock forward a year, you have to file a certificate at the end of this year and that certificate gets filed by March 31 of 2013, and it may give rise to a current service cost in 2013?

MS. PATEL:  So the cost certificate, we will be filing as of March 31st, 2012, which is as of the end of this year or the end of 2011.  That gives rise to the 16.6, which is the annual service cost.  Contribution -- and that's the cash contributions that need to be made to the plan.

There will be a full valuation done at the end of 2012, which will determine how much needs to go into the plan in 2013.

MR. THOMPSON:  All right.  So is it certificate and full valuation, or just full valuation?

MS. PATEL:  At the end of 2012, it will be a full valuation only.

MR. THOMPSON:  All right.  And will that find its way into the 2013 rebasing case or is that further on?

MR. CULBERT:  It will find its way into the 2013 case as an estimate of cost at that point in time.  It won't obviously have that valuation or certificate valuation at that time, but it will be an estimate of the costs.

MR. THOMPSON:  And that estimate, then, will -- to the extent there is a large deficit, then it may -- it will trigger more than just current service costs.  It will trigger some obligations to gradually eliminate that deficit; is that it?

MS. PATEL:  That's correct.

MR. THOMPSON:  Do I understand that correctly?

MS. PATEL:  Yes.

MR. THOMPSON:  So this will be a big issue in the 2013 case?

MR. CULBERT:  It will be an issue.

MR. THOMPSON:  All right.  Well, I hope I am still alive.  Thanks.

Now, just finally in terms of cost allocation of the Z factor amount, if it's allowed, do I understand correctly that this follows the traditional allocation of pension-related costs, or are you making some changes to the method of allocating the costs?  I think this is discussed in Energy Probe 6 and VECC Interrogatories 10 and 11.

MR. CULBERT:  Yes, and I think there was evidence filed as part of the draft rate order in comparison to the rate impacts that were shown at Exhibit B, tab 3, schedule 1, page 3, as were updated on October 17th.  They showed the rate impacts, typical rate impacts, with a Z factor inclusive of cross bore and the pension.  I am not sure what page it is in the rate order.

MR. THOMPSON:  I really wasn't interested so much in impacts as allocation method.  Is it business as usual or some change?

MR. CULBERT:  The allocation of the pension Z factor would follow typical O&M costs for salaries and benefits, because it's of the same nature.

MR. THOMPSON:  So that's business as usual?

MR. CULBERT:  Across the board, yes.

MR. THOMPSON:  Thank you.  Those are my questions.

MR. SOMMERVILLE:  Mr. Buonaguro, the Board has had a change of heart.  Given that this panel is coming back in its entirety for the subsequent issues -- I think that's right, Mr. Cass.  This panel is not?  Okay.

MR. CASS:  It is not, sir, no.

MR. SOMMERVILLE:  In that case, Mr. Buonaguro, please proceed.
Cross-Examination by Mr. Buonaguro

MR. BUONAGURO:  Thank you.  I will try to be quick.

Good afternoon, panel.  My first question has to do with the suggestion that Enbridge had the ability to request a contribution from its members, from the plan members.  Is that -- I am a little confused.  Is that a right that Enbridge, for example, has right now?  Is it something you could do right now?

MS. TROZZI:  Yes, that's correct.

MR. BUONAGURO:  Are there any limits imposed on that right?  For example, is there a maximum amount that you could claim as a contribution from your members?

MS. TROZZI:  We could ask for employee contributions, but it's not a road that we have gone down at all, because it would really change our total compensation package.

So when we look at that package, we don't just look at the pension piece.  And as I alluded to before, we do want to maintain our position in the market.  So if we were to ask for contributions, we would then allocate that money that we would have put into the pension plan elsewhere within the total compensation package.

So the cost to the company is still the same.

MR. BUONAGURO:  I am just trying to figure out the legal framework that we are operating under here.  And my understanding is that you need, apparently, approximately $16.6 million to contribute to the pension fund; correct?

MR. CULBERT:  Correct.

MR. BUONAGURO:  And you have the right in your relationship with the plan members to request up to $16.6 million in order to fund that obligation; is that correct?

MS. TROZZI:  We do.

MR. MONTEIRO:  I would --


MR. SOMMERVILLE:  I think there is a misunderstanding here.  I don't think that it's $16.6 million as a contribution to the pension plan, but, rather, a $16.6 million payment that covers the carrying costs associated with the deficit associated with the plan.  It's not covering deficit, per se.  It's only with respect to the carrying charges; is that not correct?

MR. MONTEIRO:  Yes.  It's the cost of benefits accruing --


MR. BUONAGURO:  Sorry, I may have misspoken, but my understanding is that -- and the argument is that because of this requirement to file a certificate this year with respect to last year, in this year you are going to have to cover the service costs, I think you called it; correct?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  That service cost is $16.6 million, apparently, or approximately?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  And my understanding is that in order to meet that obligation, you could ask for contributions from the members.  Have I got something wrong in that chain?

MR. MONTEIRO:  That would require a change to the terms of the plan.  Like, the plan is governed by a document which describes what benefits are paid, who contributes to the plan.  Right now it says employees contribute nothing.

So the plan would need to be amended.  It's not as simple as going and asking members to contribute.

MR. BUONAGURO:  That's why I was confused.  So you would actually have to renegotiate the plan to get contributions from your members?

MS. TROZZI:  So we would not only have to change the plan itself, but we would also have to negotiate it with our union environment through the collective bargaining process, because a large part of our members are unionized.

MR. BUONAGURO:  So there is a difference here, but when you were talking about it in the evidence, it sounded to me like you could unilaterally get money from your members, and that doesn't seem to be the case, in fact.

You have the opportunity to negotiate with the members to change the fundamental aspects of the plan, which would bring in money from the members, which potentially could fund your obligation this year, but you have decided not to do that?

MS. TROZZI:  Correct.

MR. BUONAGURO:  Thank you.  Now, my second question, this is a brief one, I think, and just a clarification.  You talked about the current $77 million apparent deficit on the solvency basis that you are reflecting.  I am looking at, in particular, Exhibit B, tab 2 schedule 5, page 1 of 1, appendix A, which is page 3 of Exhibit 1.1, the School Energy Coalition book.

I am looking at the $77.7 million deficit, and you talked about -- you estimated that it would be around $130 million now, maybe, if you were to update that figure?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  Then you talked about the relationship between that increase and the increase in the $16.6 million and there being in fact no relationship.  I just want to make sure that's the case, that the $16.6 million moves up or down quite independently from the $77.7 million deficit.  There are different factors that weigh into the calculation of those two figures?

MR. MONTEIRO:  That's correct.  As Sagar pointed out, it's a binary test.  If you are in a deficit, you need to contribute the service cost, and the service cost is based on what we had said in the 2009 report.

So the extent of the deficit doesn't change the amount of the service cost.

MR. BUONAGURO:  So, for example, the $77.7 million deficit could quadruple, but the 16.6 could remain fairly stable?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  Thank you.  Now, I am looking again at Exhibit B, tab 2, schedule 5, page 1 of 1, appendix A, which is page 3 of the School book of authorities -- book of documents.  And this is mostly for reference, because I want to understand how this works.

My understanding is that, in 2006, you filed or Enbridge would have filed a full valuation plan; is that correct?

MS. PATEL:  Yes, that's correct.

MR. BUONAGURO:  And that valuation plan basically said you are in surplus?

MS. PATEL:  Yes.

MR. BUONAGURO:  And because you are in a surplus at the end of 2006, you got a, quote/unquote, contribution holiday for three years?

MS. PATEL:  Yes, that's correct.

MR. BUONAGURO:  That would be for 2007, 2008 and 2009?

MS. PATEL:  Yes.

MR. BUONAGURO:  Now, what -- actually, I just want to know what actually triggers the contribution holiday.  Is it something in the pension plan?  Is it something in the Pension Benefits Act?  Is it something in the regulations to the act?  What is it that triggers the ability to take a quote-unquote contribution holiday?

MR. MONTEIRO:  So, actually, it's in the Pension Benefits Act, and also the income tax regulations.  So the Pension Benefits Act says that if you are in a surplus position, you can use that surplus to pay for the -- to take a contribution holiday.  The Tax Act also separately says that if your surplus exceeds a certain amount, you have to take a contribution holiday.

So I believe at the end of 2006, this plan would have been in that situation, that the surplus actually exceeded that limit under the tax act.  So Enbridge would have been forced to take a contribution holiday whether they wanted to or not.

MR. BUONAGURO:  I didn't know about the Income Tax Act provision at all, so thank you for that.

With respect to the Pension Benefits Act, I found that section.  I think it's section 55 or 55.1 or .2 in the current act, which talks about a contribution holiday, but I can't find an equivalent section back in 2006 that would have been effective at the time of the first valuation.

Would I be reasonable to assume that in 2006 what triggered the contribution holiday or the necessity of a contribution holiday would have been just the Income Tax Act, or is there something else?

MR. MONTEIRO:  No, there is section 7 of the regulations, I believe, to the Pension Benefits Act, which describes -- I mean, I am not aware of section 55 that you refer to.  I think section 7 is the one that actually -- it has been in the Pension Benefits Act as long as I have practised, so...

MR. BUONAGURO:  Thank you for that clarification.

So now looking at these figures on this particular page, we see that in 2008 on a going concern basis, there was a deficit of $2.4 million; correct?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  And my question is a hypothetical.

If that deficiency had occurred one year later, so 2009, that was the same year that a valuation was required; correct?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  And if that had happened, again, in 2009, a deficiency of 2.4 million, there would have been no holiday at all for 2010, 2011 and 2012; correct?  No contribution holiday?

MR. MONTEIRO:  That's correct.

MR. BUONAGURO:  So the company would have been subject to contributions in 2010, 2011 and 2012?

MR. MONTEIRO:  Well, unless they filed a subsequent valuation.  As we talked about, you are only required to file a valuation once every three years, but you can file it more frequently if you wish to do so.

So in your example, if you are at a deficit of 2.4 million at the end of 2009, and then by 2010 you were back in a surplus, Enbridge could have chosen to file a valuation at that point and restart a contribution holiday.

MR. BUONAGURO:  Assuming that they were in a surplus?

MR. MONTEIRO:  In a surplus.

MR. BUONAGURO:  But once the initial three-year holiday terminated in 2009 and the first valuation comes out with a negative, the only time you go back on a contribution holiday for any length of time is if you are in a surplus position?

MR. MONTEIRO:  Correct.

MR. BUONAGURO:  Okay.  Thank you. 

Thank you.  Those are my questions.

MR. SOMMERVILLE:  Thank you, Mr. Buonaguro.

Any redirect, Mr. Cass?

MR. CASS:  No, none, sir.  Thank you. 

MR. SOMMERVILLE:  Thank you very much, witness panel.  You are excused.  I think we are going to see you again, Mr. Culbert.  We will adjourn until 12:00 o'clock tomorrow.  Thank you very much. 

--- Whereupon the hearing adjourned at 4:36 p.m. 
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